MUHUCTEPCTBO HAYKHU 1 BBICILIETO OBPA30BAHMS POCCUICKOM ®EIEPALIN

®EJIEPAJIBHOE TOCYIAPCTBEHHOE ABTOHOMHOE
OBPA3OBATEJIBHOE YUPEXX/IEHUE BBICILIETO OBPA3SOBAHIS
«CAMAPCKUNI HALIMOHAJIBHBIN UCCJIEJJOBATEJILCKUIA
VHUBEPCUTET UMEHU AKAJIEMUKA C.IT. KOPOJIEBA»
(CAMAPCKMIA YHUBEPCUTET)

E.C. PAIBOBA

TUITOJIOTMYECKUE UCCJIEJJOBAHU S
JIMHTBUCTUYECKUX EJMHULL
AHTJIMUCKOTO SI3bIKA

PekoMeHIOBaHO — pEIaKIMOHHO-M3/IATCIBCKHUM  COBETOM  (heaepaabHOTo
TOCYJIapCTBEHHOTO aBTOHOMHOTO 00pa30BaTEIBbHOTO YYPEIHKACHHS BBICIICTO
obpaszoBanust «CaMapCKuii HAIMOHAJIBHBIA HCCIICMOBATEILCKIN YHUBEPCUTET
nmenn  akamemumka CJI.  KopomeBa» B KadecTBE  TpakTHKyMa
IUIT  OOYydJalomuXcs 10 OCHOBHOH 00pa3oBaTelbHOW MPOrpaMMe BBICIIETO
oOpazoBanust 1o HampasineHuro moaroToBkn 11.04.03 KonctpympoaHme
1 TEXHOJIOTHS HJIEKTPOHHBIX CPENICTB

CAMAPA
WznarenscTBo CaMapcKOTO YHUBEPCHUTETA
2023



VIK 811.111(075)
BBK 81.2Aurns17

P982
Penenzentsr: a-p gumon. Hayk, npod. FO.B. Kobenko,

I-p ¢wmnon. Hayk, gou. B.J[. IlleBuenko

Paboea, Enena Cepzeesna

P9&2 Tunosornyeckue MUCCjaIeT0BaHUA JHHIBHCTHYECKUX €IUHMHIL

aHrjauiickoro s3bika: mpaktukym / E.C. Paboea. — Camapa:
NznatenscTtBo Camapckoro yausepcutera, 2023. — 72 c.

ISBN 978-5-7883-1863-9

[IpakTukyM TpefHA3HAYEH Ui MAarkCTPOB MHCTHUTYTa WHpOpMa-
THKH U KHOCPHETHKH, H3YyJaIOIINX aKaJeMUYECKUI HHOCTPAHHBIHN SI3BIK
(aHTIIHHACKMIT).

Coctout u3 10 moapazaesnoB 1 BKIIOYAET pa3HOIUIAHOBbBIE 3aJaHHs
MPaKTUYECKOTO XapaKTepa, YaCTh KOTOPBIX OXBATHIBACT CAMBIC BayKHBIC
npobiemsl Tunonoru. Bropas gacte “Do it on your own” («Cnaemait
3TO CaMOCTOSATEIBHO») MPEeIyCMaTPUBACT OOpaIeHHE K HEOOXOUMBIM
JIOTIOJTHATEIbHBIM UCTOYHUKAM (TI€YATHBIM M SJIEKTPOHHBIM) U PacCUH-
TaHa KaK Ha JOMAIIHIOI pa0OTy, Tak M HA BBHIOJHEHHE BO BpPEMs
AyJUTOPHBIX 3aHATHH.

TeKcTBI UTIsl TUTIOJIOTUYECKOTO aHaIN3a OTBEYAIOT TEMAaTHKE CIie-
UAJTLHOCTH, TTOCBSIIEHBI MPOOJieMaM HH()OPMAIIMOHHBIX TEXHOJIOTH.

[ToaroroBieH Ha Kadeape WHOCTPAHHBIX S3BIKOB M PYCCKOTO Kak
WHOCTPAHHOTO.

VJIK 811.111(075)
BBK 81.2Aurng7

ISBN 978-5-7883-1863-9 © Camapckuii yausepeutert, 2023



COIEP/KAHUE

[MPEAVICIIOBUHE ......ccoiiiiiiiiiieie et 4
3anstue 1. Tunonorus aHrIUHCKOTO U PYCCKOTO S3BIKOB ........... 5

3anstue 2. Tunonorus (GOHOJIOTHYECKUX CHCTEM
AHIJIMMCKOTO M PYCCKOTO SA3BIKOB ...cvvvviiiiiiniiiissiiiesnnessnaes e 11

3ausarue 3. TUIOIOTHS JIEKCUUYECKHUX CUCTEM.
DTUMOJIOTUYECKHE XapaKTEPUCTUKH
KaK COCTABJISIFOIIUE SI3BIKOBOM CTPYKTYPBI ..vcvveeirianreerieesreeninnns 18

Saugrue 4. TUIIOIOTHS TEKCUUECKUX CUCTEM.
Mopddonoruueckas CTpyKTypa aHTJIHMICKUX U PYCCKUX CIIOB.
CITOBOOOPABOBAHUEC ......eeeiveeniiesireateesieeeieesieeaseesieesneesneesneesnnens 20

3ausarue 5. TUHOIIOTHS JIEKCHYECKUX CUCTEM.
CeMaHTHKAa aHTJIMHCKHUX W PYCCKHUX CJIOB.
THIIBI CEMAHTUUYECKUX U3MEHEHUM .. .eeveeieeiiiisieeeeeseeessinsseeeeees 23

3ausarue 6. TUIOIOTHS JIEKCUKO-CEMAHTUUECKHUX CUCTEM.......... 28

3anstue 7. Tunosorus rpaMMaTHYECKUX CUCTEM.
Kareropuu cymecTBUTeIbHOIO, IJ1aroja,
[IPUJIAraTeIbHOTO B AHIVIMMCKOM U PYCCKOM S3BIKAX ..ooovvernnien. 37

3anstue 8. Tunosorus rpaMMaTHYECKUX CUCTEM.
THUnonorus CHHTAKCUYECKUX CUCTEM aHTIIMHCKOTO

VL PYCCKOTO SIBBIKOB ...cuuviiirissiiesiiisstissiesssessinssnessiessnessnes e snne s 47
3anstue 9. CpaBHUTEIBHAS TUIIOJIOTHS B OCOOCHHOCTH

MEPEBOJIA TEXHUUECKHUX TEKCTOB ... .vvvreersirereessnereeesannrneeessnnneessns 51
3anstue 10. [ToBTopenne. KoHTposibHBIE BOITPOCHI IO
COJICPIKAHUEO KYPCA . veureernreanneesireasreessneaseessneasneesneeanessnnesneessneas 53
TexkcThl A1 IpoBeACHUS

CPaBHUTEIbHO-TUIIOIOTUYECKOTO AHATMBA 1..vvveeervreessnreesnreeesnneas 58
REFERENCES ... 67



HNPEJUCJIOBHUE

Hacrosmuit npakTHKYM MpeaHa3HaYeH JUIsi MaruCTPOB WHCTUTYTA
HHDOPMATHKN U KHOSPHETHKH.

ComyTcTByIOMIEH Henbl0 H3y4eHHs AUCIUILTHHEI BBICTynaeT Ghop-
MHUPOBAaHUE y CTYACHTOB FOTOBHOCTU K PELICHHIO KOHKPETHBIX 3a1ad
NpoQeCCHOHATLHO-TIPAKTHYECKOH W HAYYHO-METOJANYECKON JesATelhb-
HOCTH.

OcHOBHOE BHHMMAaHHE YJENACTCS Pa3BUTHIO YMEHUS MPHUMEHSThH
IMMOJTYYCHHLIC 3HAHMA Ha IPAKTUKE: IMOJb3YyiACh MCTOJUKAMU CpaBHU-
TEJNBHO-COMOCTABUTELHOTO METO/a, aHAJIM3UPOBATH SI3BIKOBBIC SIBJIC-
HUS (POHOJIOTHYECKOTO, MOP(OIOTHIECKOTO, CHHTAKCHIECKOTO, JICKCH-
YEeCKOT0 M JIEKCUKO-CEMaHTHYECKOTO YPOBHEH. YuuThIBas crenuuky
MOJTOTOBKU CTYACHTOB, P/ 3aJaHUil OpPUEHTHUPOBAHBI Ha PaboTy C
TEKCTaMH TI0 CIICIUATIbHOCTH.

KoMIeTeHTHOCTHBIN MOJIXOM TPEANONaracT CaMOCTOSITCIBHYIO
paboTy CTYACHTOB, Pa3BUTHE CIIOCOOHOCTH OPUEHTHPOBATHCS B OTEUC-
CTBEHHBIX M 3apyOe)KHBIX HAyYHBIX KOHLEMIHUIX / TOYKax 3pCHUS W
WCIOJIb30BaTh 3TH 3HAHUS Ha MPAKTHKE. BeencTBre 3TOro BKITOYCHEI
JIOCTATOYHO Pa3HOOOpa3HbIC 3aJaHWs, PACCUUTAHHBICE HA CaMOCTOS-
TEJIbHYIO PabOTy CTY/ICHTOB.

3aBepuraeTcd MPaKTUKyM TECTOM Ha MPOBEPKY IMOJyUYEHHBIX 3HAa-
HUI TEOPETHYECKOTO U MPAKTUYECKOTO XapakTepa, B KOTOPOM Mpeia-
rarTCs 3aJaHusl JUI KOHTPOJS C(HOPMUPOBAHHBIX KOMIETEHIMU IO
U3y4aeMoO JUCIUTUTHHE.

[No 3aBepiIeHHUIO TAHHOTO Kypca CTYIEHTHI CMOTYT c()OPMHPOBATH
BCE€ HEOOXOIMMBIE KOMIIETEHIINH, MPEAYCMOTPEHHbIE TPeOOBaHUAMHU
MPOrpaMMbl «AKaJIEMUYECKUN MHOCTPAHHBINA S3bIK» U MOATOTOBSATCS K
c/1aye UTOroBOM aTTeCTAllK 10 JaHHON TUCLIUIUINHE.



3AHSATHE 1.
THUIIOJIOT sl AHTJIMMCKOI'O
N PYCCKOI'O A3bIKOB

Task 1. Read the text and explain the difference between “abso-
lute” and “statistical” universals. Find examples of both the types.
Which sphere of linguistics — phonetics, grammar, semantics — do they
belong to?

The number of universals so far discovered is very large, but not
all of them are of equal cognitive value. For instance, the statement that
“all languages consist of phonemes” seems rather trivial as compared
with another universal stating that “if a language has a dual number, it
also has a singular and a plural numbers”.

Besides, it is necessary to say that the number of universals in the
true sense of the word, i.e. absolute universals applicable to all lan-
guages without exception, is comparatively small. More numerous are
universals which may be called quasi- or statistical universals that can
be applied to a limited group of languages.

Absolute universals include such statements as, for example, the
proposition that all languages have no less than 10 and no more than 70
phonemes. Or, according to Ch.Hocket, absolute is a historical tenden-
cy towards phonological symmetry. L.V. Shcherba considered univer-
sal the dependence of the free word order in such languages as Latin
and Russian upon the highly developed inflexional systems of these
languages. An example of a statistical universal is the occurrence of at
least one nasal consonant in almost every language.

Phonological universals. The outstanding Czeck linguist B.Trnka
tired to establish some general laws of phonemic combinations. But
another scholar, N.Trubetskoi, pointed out that of all the laws discov-
ered by B.Trnka only one might be considered a universal law, namely




the one which states that a language is impossible without combinations
consisting of a vowel and a consonant.

R. Jakobson adduces several examples of universal laws, affirm-
ing, for instance, that there may exist languages without fricatives, but
there are no languages without plosives. He also asserts that there are
no languages with labialized front vowels which would not have labial-
ized back vowels.

Universals which hold in a limited number of tongues are more
numerous: for example, languages which admit CC clusters at the be-
ginning of the word and CC clusters at the end of the word, admit such
clusters in the middle of the word (B. Trnka).

J. Greenberg came to the conclusion that shorter consonant clusters
are preferred to longer ones.

Grammatical universals. J.Greenberg, after investigating about
thirty languages of different families, discovered forty-five universals,
six of which, as was found out later, do not hold in all languages, i.e.
are not absolute laws.

A large proportion of the universals put forward by the linguist are
of implicational type, that is, they have the formula ‘given x in a partic-
ular language, we always find y’. When nothing further is said, it is un-
derstood that the converse, namely, given y we always find does not
hold.

Several universals found by the linguist are concerned with word
order. Thus, one of them says that the majority of languages have sev-
eral variant word orders but a single dominant one. There are six possi-
ble orders: SVO, SOV, VSO, VOS, OSV, OVS. Of these six only three
occur as dominant orders: SVO, SOV, VSO, in which the subject pre-
cedes the object. The three which seldom occur are VOS, OSV and
OVS in which the object precedes the subject. This universal runs as
follows: “In declarative sentences with normal subject and object the
dominant order is always the one in which the subject precedes the ob-
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ject”. Languages with dominant VSO order are always prepositional.
Languages with SOV order are usually postpositional. All languages
with dominant VSO order have SVO as an alternative or as the only
alternative basic order.

The universals mentioned above deal with basic word order. Other
universals are concerned with syntax and morphology. A syntactical
universal asserts that in conditional statements, the conditional clause
precedes the conclusion as the normal order in all languages. Universal
18 runs as follows: “When the descriptive adjective precedes the noun,
the demonstrative, and the numeral, with overwhelmingly more than
chance frequency, does likewise. When any or all of these three types
of qualifiers precede the noun, the order among them is always the
same: demonstrative, numeral and adjective, as in English, these five
beautiful houses"’ [16].

Task 4. Read the text and find examples of linguistic universals.
Write them out classifying into Phonological, Lexical, Grammatical.
Which of them are absolute and which are statistical?

Eventually, he rose and strolled backwards out of the park.

On the street a boy backed past him, unwhistling snatches of a
popular song.

He backed up the stairs to his apartment, his hangover growing
worse again, undrank his coffee, unshowered, unswallowed his aspi-
rins, and got into bed, feeling awful.

Let this be it, he decided.

A faintly-remembered nightmare ran in reverse though his mind,
giving it an undeserved happy ending.

It was dark when he awakened.

He was very drunk.

He backed over to the bar and began spitting out his drinks, one by
one into the same glass he had used the night before, and pouring them
from the glass back into the bottles again. Separating the gin and ver-



mouth was no trick at all. The liquids leapt into the air as he held the
uncorked bottles above the bar.

And he grew less and less drunk as this went on.

Then he stood before an early Martini and it was 10:07 in the P.M.
There, within the hallucination, he wondered about another hallucina-
tion. Would time loop-the-loop, forward and then backward again,
through his previous seizure?

No.

It was as though it had not happened, had never been.

He continued on back through the evening, undoing things.

He raised the telephone, said "good-bye", untold Murray that he
would not be coming to work again tomorrow, listened a moment,
recradled the phone and looked at it as it rang.

The sun came up in the west and people were backing their cars to
work.

He read the weather report and the headlines, folded the evening
paper and placed it out in the hall.

It was the longest seizure he had ever had, but he did not really
care. He settled himself down within it and watched as the day un-
wound itself back to morning.

His hangover returned as the day grew smaller, and it was terrible
when he got into bed again.

When he awakened the previous evening the drunkenness was
high upon him again. Two of the bottles he refilled, recorked, resealed.
He knew he would take them to the liquor store soon and get his money
back.

As he sat there that day, his mouth uncursing and undrinking and his
eyes unreading, he knew that new cars were being shipped back to Detroit
and disassembled, that corpses were awakening into their death-throes, and
that priests the world over were saying black mass, unknowing.

He wanted to chuckle, but he could not tell his mouth to do it.



He unsmoked two and a half packs of cigarettes.

Then came another hangover and he went to bed. Later, the sun set
in the east.

Time's winged chariot fled before him as he opened the door and
said "good-bye" to his comforters and they came in and sat down and
told him not to grieve overmuch.

And he wept without tears as he realized what was to come.

Despite his madness, he hurt.

...Hurt, as the days rolled backward.

...Backward, inexorably.

...Inexorably, until he knew the time was near at hand.

He gnashed the teeth of his mind.

Great was his grief and his hate and his love (from “Divine Mad-
ness” by R. Zelazny) [30].

Task 2. Read the text and answer the questions:

1. Yo moHumaercs moa TCPMUHOM «KOHTEHCHUBHAs THUIOJIOTUI»?

2. KakoBo conmepkanue kinaccupukannoHHOW Tumnoioruu? B gem
€¢ HeJIOCTaTKu?

3. Uto sBisieTcss 0OBEKTOM M3YUCHHS XapaKTEPOJIOTHUYECKOM THITO-
norun? B yem ee HegocTtaTtku?

4. B 4eM oTIMYUE TUTIOJIOTHH YHUBEPCAIUI OT KIacCH(PHUKAIOH-
HOW Tunosyoruu? Xapakrtepoyiorndeckoi tumnojorun? B uem ee mpe-
MMYIIECTBA U HETOCTATKHU?

‘DO IT ON YOUR OWN’ Section

Task 1. Read the statements below and say which of them cannot
be referred to as linguistic universals. Give your reasons.

1. Where humans exist, language exists.

2. Every language has a way of referring to past time, forming
questions, issuing commands.

3. All languages change through time.



4. Any normal child, born anywhere in the world, of any racial, ge-
ographical, social, or economic background, is capable of learning any
language to which he or she is exposed.

5. Every spoken language includes discrete sound segments like p,
n, or a, which can be defined by a finite set of sound properties (from
Fromkin and Rodman, 1988, cited by Scherba de Valenzuela, pp. 18-
19) [28].

Task 2. Read Chapter 2 from the book « Cpasnumenvras munono-
2Usl AH2TUTICKO20 U pYycckoeo s3vikoey by B.J[.Apaxun [3] and search
the Internet for additional data about the scientists that lay the founda-
tion of modern typology (see the list below). Be ready to give a 10-
minute talk in class.

Opunpux llnerens T. MuneBckuit
Asrycrt lllnerens ®.®. PopTyHaATOB
Bunsrensm I'ymOombaT H.A. Mapp
®panr borm P. SIxoGcon
Asrycr Illneiixep Bb.A. CepeOpeHHUKOB
®.H. ®unk .. MenianuHoB
3. Cenup B.A. Ycnenckwmii
H.C. Tpy0enxoii B.H. fIpuesa

M.M. I'yxman
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3AHSATHUE 2.
THITOJIOT' YA ®POHOJIOI'MYECKUX CUCTEM
AHTJIMMCKOT'O U PYCCKOTI'O SI3bIKOB

Task 1. Answer the following questions.

1. What is the difference between “phonological” and “phonetic”
levels of language structure?

2. What do we mean by “transitions”? Why is the data about
transitions important for teachers? Give examples of the four types of
transitions.

3. What are the four components of the phonological system of the
language?

4. What are the main principles of vowel classification? Consonant
classification? (Use the book: Mopo3osa A.H., T'ycesa E.B.
Awurnmiickoe npousHorienue) [12].

5. Which components of intonation are used in typology to show
the difference between English and Russian intonation patterns?

6. What are the functions of word-stress in English and in
Russian? Give examples.

7. Which sounds are syllabic (capable of forming syllables) in
English and in Russian?

Task 2. Speak on the topics.

1. Phonetic and phonological levels of the language.

2. Typological features distinguishing the subsystems of a) English
and Russian vowels; b) English and Russian consonants.

3. Linguistic-didactic aspects of a) intonation; b) word-stress; c)
syllable division (Use the book: Mopozosa A.H., I'ycera E.B.
Awnrnmiickoe npousHotieHue) [12].

Task 3. a) Intone the sentences and read them. What typological
mistakes are Russian learners of English apt to make while
pronouncing them?

— Can you come? — Yes, | can.
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— What’s the weather like today? — It’s fine.

b) Which English final tone (tune, intonation) was the most
difficult for you to master? Explain the cause from the point of view of
typology

Task 4. Why are transitions important in teaching English as a
foreign language? Which transitions are practised in the following
exercises? Why must they be practised?

1) dik, 'siti 2)\da:k\_§u:dn [3) bi\-jgunli boi |

Task 5. a) Which words are more difficult for a Russian learner of
English to pronounce? Why?

desk [desk] — day [dei]

put [put] — poor [pua]

b) Are the underlined combinations of sound identical in English
and Russian?

“T want to die!” [dai] “/laii MmHe KHHTY!”

Task 6. Which linguistic universal connected with aspiration and
palatalization do you know? Which phonetic phenomenon - aspiration
or palatalization - is of more importance and difficulty in teaching a
Russian student of English ?

Task 7. a) Why do we practise the tongue-twister “Tell Tom to
come at ten tomorrow”’?

b) Give your examples of words that should be pronounced: with
aspiration, - with palatalized sounds, - with no aspiration, - with

no palatalization. Can all these examples be found in English?

Task 8. a) Why do beginners practise the following words and
combinations:

at the tree twenty

we cream

Comment on the mechanism of assimilation and state its character
(progressive, regressive, progressive-regressive).
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b) Find examples of assimilation in the English text from Task
4,3ausmue 1. Are there identical (parallel) assimilation processes in
the Russian translation?

Task 9. Which typological mistakes are Russian students of
English apt to make while pronouncing such pairs of words as: [pi:t] -
[pit], [bi:t] - [bit], [ni:t] — [nit]?

Task 10. Why must we put a word-stress in the word “garden”
['ga:dn] and must not do that in the word “con ”?

Task 11. Which other way can you read the sentence by shifting
the stress? [wot an ‘eim] (It means: It’s honourable on your part!)
What have you changed by shifting the stress?

‘DO IT ON YOUR OWN?” Section

Task 1. Search the Internet for some additional information about
English and Russian sound classifications and prepare a detailed anal-
ysis about the difference between these two systems.

Task 2. Read the texts and speak about the inventory and
distributional changes in the subsystem of English vowels. Which of
them should be taken into account when teaching at school? Explain
your choice.

INVENTORY CHANGES IN THE SYSTEM OF ENGLISH VOWELS

Inventory changes take place in the stock of phonemes and their
pronunciation. The following changes in the inventory of the English
vowel phonemes have been observed in the past few decades:

1. The vowels [i:] and [u:] have almost completely become diph-
thongoids, especially at the end of words. Now they are mostly pro-
nounced [i /] and [u « “] respectively, where as in the past years many
Englishmen pronounced them as pure monophthongs: he [hi:] > [hi i 1],
who [hu:] > [hu "]

2. The vowel [e] has become more open, thus resembling [s] in the
word smo but not in the word smu, e.g. better ['beta] > [’beta].
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3. The vowel [@] in the speech of many young people and
children has become a more retracted vowel, close to the Russian [a],
e.g. have [hav] > [hav],

4. The vowel [a:] has become a little more advanced, thus ap-
proaching the Russian [a] from the opposite direction. Now it resembles
[a] in the word zanxa.

5. The vowel [0:] has become somewhat higher, resembling now
[o] in the word zox.

6. The back-advanced, mid-open [A] has become still more ad-
vanced, closer to the Russian [a] or the English [9] in such words as
pana, runner ['rana].

7. The nucleus of the diphthong [ei] has become more open (> [g]),
like [3] in smom. The glide of the diphthong tends to become weak in
the pronunciation of young people. Sometimes it disappears altogether
which causes the lengthening of the nucleus, especially in the word-
final position. As a result of this tendency words like day [dei] > [dei]
are pronounced by some Englishmen as [ de].

8. The nucleus of the diphthong [ou], a back-advanced, mid-open
vowel of narrow variation, has become still more advanced, virtually
coinciding in quality with the mixed, mid-open vowel of narrow varia-
tion [a:]. This change is so widespread that it has been recorded in the
latest editions of English-Russian dictionaries where the diphthong is
transcribed as [av], e.g. home [haum]. This phonetical change may be
safely introduced into language-teaching practice not only due to its
stability but also in keeping with the principle of pedagogical expedi-
ence. The fact is that the nucleus of the diphthong [ov], differing in
quality from both the Russian [0] and the English [D], is usually intro-
duced as a separate phoneme which offers an unnecessary difficulty.
The difficulty is, however, removed if we substitute [2:] for [o], saying
to the pupils that they will be able to pronounce the diphthong in ques-
tion if they add the vowel [v] to the already familiar vowel making the
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latter half-long. For example, add [v] to [2:] in her [ha:] > [h] hoe; or
learn [1a:n] > [lov] low, etc.

9. The so-called “triphthongs” [aio] and [ava] are often replaced by
the diphthongs [a- o] and [a-9] respectively, e.g. tyre ['taia] > ['ta-9],
tower ['tave] > ['tao-s]. The words like tyre and tower do not become
homophones because the nuclei of the diphthongs differ: [a‘] in [a-9]
remains a front, open vowel of broad variation, whereas the nucleus in
[a-9] is close to the back, open vowel [a:]. This change is advisable for
teaching purposes in order to avoid a mistake made by Russian pupils,
namely, the substitution of [j] and [w] for the glides [i] and [U] respec-
tively in the triphthongs [aia] and [avs], e.g. tyre ['taia] > [tajo], tower
['tava] > ['tawa].

DISTRIBUTIONAL CHANGES IN THE SYSTEM OF VOWELS

Distributional changes occur in certain combinations and positions
in words and their forms.

1. The unstressed [i] at the end of words is often replaced by the
long diphthongoid [i i /] which is possibly due to the American influ-
ence, e.g. ['priti] > [priti i ] pretty.

2. There is a tendency to substitute [2] for [i] in some of the prefix-
es and suffixes, e.g. become [ba'kam], goodness ['gudnoas]. But this is
not done with -es and -ed to maintain the distinction between [iz] and
[z], e.g. offices ['pfisiz] and officers ['pfisoz].

The most widespread distributional changes occur under the influ-
ence of spelling. In this case a letter or a digraph acquires its most typi-
cal pronunciation.

3. The second component -day in Sunday, Monday, etc. is pro-
nounced [dei] because the digraph -ay is usually read as [ei] but not as
[i]. Therefore, Sunday ['sandi] > [sandei], holiday ['holidi] > ['holidei].

4. In the unstressed prefix con- the vowel [D] is pronounced in-
stead of [a], e.g. consider [kon'sida] > [kpn'sida].
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5. The substitution of [e] for [i] in the initial unstressed syllable,
e.g. excuse [iks'kju:z] > [eks'kju:z].

6. There is a tendency to use lowered varieties of [i] in unstressed
positions: waited ['weited], ladies ['leidez], become [bo'kam], etc. Such
speakers have weak forms for it, this, in, if, when these words are un-
stressed: I’ll get it in the morning [ail ‘getet en 8o 'mo:nen)].

Some distributional changes are caused by the tendency of bring-
ing the pronunciation of borrowed words closer to the original, e.g. the
former pronunciation of Prague (cf. Hague [heig], vague [veig]) was
[preig]. Now it has changed into [pra:g] which is closer to the Czeck
Praha. A similar tendency can be traced in the Russian language, e.g.
Jloc Duoocenec, Kapubcrkoe mope, Ilepy instead of the former Jloc
Anocenoc, Kapaubckoe mope, Ilepy for Los Angeles, Caribbean Sea,
Peru.

Shift of word-stress almost invariably involves distributional
changes in vowels. Thus, possibly due to the influence of American
pronunciation, some many-syllable adverbs formed from adjectives in -
ary, are now pronounced with a secondary stress on the vowel of this
suffix. As a result, the neutral vowel in this syllable is substituted by the
monophthong [e], e.g. temporarily [tempararili] > [ tempa'rerili], nec-
essarily ['nesasarili] > [ neso'serili].

Such variants are not phonetical innovations in the strict sense of
the word because they were recorded in pronouncing dictionaries many
years ago, but they are worthy of note. Nowadays they become more
and more frequent in colloquial speech [14].

Task 3. Read the text and speak about the distributional changes in
the subsystem of English consonants. Which of them should be taken into
account when teaching at school? Explain your choice.

Consonants do not so easily change within so short a period of
time as the lifetime of three or four generations. Consequently, changes
of consonants are exclusively distributional.
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1. The sonorant [r] regularly appears at the end of a word ending in
a vowel, before the initial vowel of the following word, though the first
word is spelt without [r] at the end, e.g. the idea of it [ai'dior ov it], law
and order ['lo:r and 'o:do], Asia and Africa [eifo r and '®frika], etc.

Parallel with it there appears to be an increasing tendency, espe-
cially among young people, not to use linking [r] at all, particularly
when the vowel following the word ending in [r] is unstressed. Thus
some speakers say ['mo: an 'mo:] for ['mo:r an 'mo:], [2 'pea av bu:ts],
instead of [a 'pear ov 'bu:ts], ['wea it iz] for ['wear it iz],

2. When the [h] phoneme occurs medially between voiced sounds,
a voiced [fi] is used by most English people, e.g. behind [bi'faind], in-
habit [in'Axbit]. Now the voiced [A] often occurs after a voiceless con-
sonant, e.g. at home [at Aioum].

3. The voiced noise consonants [b, d, g, d3, v, 0, z, 3] show an in-
creasing tendency to appear partially devoiced in word-final position. It
may be accounted for by their opposition to the corresponding voiceless
consonants [p, t, k, tf, f, 0, s, [] based mainly on the fortis character of
the voiceless and the lenis character of the voiced consonants, while
their voiced vs. voiceless opposition is but a secondary feature. Alt-
hough somewhat devoiced [b] in rib is not mixed up with [p] in rip, or
[g] in bag with [K] in back, and the words like rib - rip, bag - back do
not become homophones like Russian zye — ayx, cno6 — cron.

4. At the junction of two noise plosives the first plosive often re-
tains plosion as it always occurs in Russian, e.g. in fact both [k] and [t]
have separate plosions.

There are other fluctuations in the phonemic system. The sonorant
[i] is sometimes dropped, especially after [s], e.g. [sju:t] > [su:t]. Many
people pronounce [t] in often, though this tendency is not observed in
other words ending in -ften: soften [‘sofn] [16].
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3AHSATHE 3.
THUITOJIOT'UA JEKCHYECKHUX CUCTEM.
ITUMOJIOTHYECKHUE XAPAKTEPUCTUKHU
KAK COCTABJISIIOIIUE SA3bIKOBOM CTPYKTYPBI

Task 1. Read the text and explain why the mixed character of the
English vocabulary is considered one of its main typological features.

Basically, the etymological characteristics of the vocabulary sys-
tems of the English and Russian languages are alike because of the sim-
ilarity of their structure — they comprise both native and borrowed
words. But there are peculiarities as well.

One of the peculiar features of the English vocabulary is its mixed
character (cmemanHBI XapakTep aHTIMHUCKOro BoKaOyssipa), though
Russian words also include the native and borrowed element. In order
to see the difference we are to analyze the quantitative and qualitative
relationships of the native and borrowed element. If we do it we are
sure to find out that in English the percentage of borrowed words is
extremely high — about 70%; it’s higher than in Russian and most of the
European languages. So, the result achieved (70%) made the status of
the English language dubious: there was once an opinion that English is
a Romanic-Germanic language (as the majority of borrowed words
came from Latin and French).

The application of the quantitative analysis did away with the am-
biguity. In actual speech the number of native words (including form-
words and notional words) is greater and reaches 80% (as was found
out in the works of W. Shakespeare, for example).

Native words are also very important in speech due to their seman-
tics (they denote basic everyday notions), wide sphere of usage and
high frequency value. That makes up its qualitative aspect — vital need
for communication.

The most important thing is that native and borrowed words in
English have their specific linguistic characteristics.
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As for the Russian language the etymological aspect of its vocabu-
lary system does not show its mixed character so vividly; the number of
borrowed words is not so big and there are no striking linguistic differ-
ences between native and borrowed words.

Task 2. Prove that a) English is a Germanic language and not a
Romanic-Germanic one; b) the typological characteristics of native
and borrowed words are different. Use the text given below.

Note: The typological characteristics of native and borrowed
words can manifest themselves in different ways: in the length of the
word and the position of the word-stress; the paradigm of the word and
the volume of its semantic structure; the degree of word-building
activity and so on.

‘DO IT ON YOUR OWN’ Section

Search the Internet for some additional information about words
in Russian borrowed from English and words in English borrowed from
Russian in the sphere of Radioelectronics. Prepare a short report. What
spheres do they belong to?
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3AHSITHE 4.
TUIOJIOI'US JEKCUUYECKUX CUCTEM.
MOP®OJOT'MYECKAS CTPYKTYPA
AHIJIMMCKUX U PYCCKHUX CJIOB.
CJOBOOBPA30BAHUE

Task 1. Speak on the topics.

1. Morphological level of the language;

2. Morphology of the English and Russian word: Prof.
V.D.Arakin’s theory, its strong and weak points.

3. Word-building: types of forming new words in English and in
Russian. Types of word-building relevant for the construction of the
“type within the English language”.

4. Typological ‘passport’ of the English and Russian languages.

Task 2. A. Analyse the structural type of the words:

greyish, pen, kitchen-garden, gold-seeker, lilly-of-the-valley, M-
day, Anglo-American, toytoon.

Can you give examples of Russian words belonging to the
structural types mentioned?

B. Analyse the structural type of the compounds:

statesman, snowfall, Jack-of-all-trades, V-day, writing-table. Are
there derivational morphological compounds in English?

Task 3. A. Give examples of English and Russian derivatives made
by prefixation; suffixation.

B. What part of speech is prefixation typical of in Russian? What
can you say about the lexico-grammatical (part - of - speech)
characteristics of the derivatives in both languages?

Task 4. A. Supply the missing word in a conversion pair and state
its part of speech and meaning.

? - brush (v) find (v) -?
? - pocket (v) help (v) - ?
? - elbow (V) contest (V) -7
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B. Can we speak about conversion in the Russian language? If we
can, give examples .

Task 5. Give examples of shortening, sound interchange,
reduplication and blending in English and, if possible, in Russian.

‘DO IT ON YOUR OWN” Section

Task 1. Analyse the word-building patterns of the noun in English
and Russian. Follow the given instructions.

Note: The instructions are worked out on the basis of typological
indices method by J.Greenberg [5, 6]. The latter presupposes the
analysis of the quantitative characteristics of the language with the aim
of finding out parameters of a general character.

|. KauecTBeHHas1 XxapaKTepUCTHKA: KJIACCH(DUIIMPOBAThH CYIIECTBU-
TEeJIbHBIC Ha KOPHEBBIE, IPOM3BOJHbIC, CJIOXKHBIE U JaTh UX CI0BOOOpa-
30BaTeNbHBIE MOJAETN B cHMBOJax: W — KopeHb, P — mpedwukc,
S — cydduxc.

Il. KonmnyecTBeHHas XapakTepuCTHKA: 1) OMpenenuTs, Kakue Cy-
HIECTBUTEIbHBIE M UX CIOBOOOpa3oBaTelIbHBIE MOJIENN MPeodanaioT;
2) YCTaHOBUTH HHJIEKC JAEpHBAIMH (CIOBOOOpPA30BaHWS) CYIIECTBH-
TEJIBHBIX B TEKCTax, BKmovaromux kaxabidi 100 cnos. Ecnu OykBamu
SW — 0003HaYUTh KOJIMYECTBO KOPHEBBIX CYIIECTBHTENBHBIX Ha 100
CJIOB TEKCTa, a OYKBOM S — KOJIMYECTBO BCEX CYIIECTBUTEIbHBIX Ha 100
CJIOB TEKCTa, TO OTHOWIEHHUE SV/s ABJIAETCSA HHIEKCOM JIEPUBALIUM CYIIIE-
CTBUTEJIbHBIX; 3) YCTAaHOBUTH MHJICKC Npe(HKCAMU CYHIECTBUTEb-
HbeIX. Ecin OykBamu Sp — 0003HAYMTH KOJMYECTBO Mpe(UKCAIBHBIX
CYIIECTBUTEIbHBIX, @ OYKBOW S — 00IIlee KOJIMYECTBO CYIIECTBUTEIIb-
Heix Ha 100 CJIOB TeKCTa, TO OTHOLIEHUE SP/S ABIAETCA MHAEKCOM IIPe-
¢buKcanuu CyniecTBUTENbHBIX; 4) yCTAaHOBUTHh MHJEKC cyddukcanmu
cymecTBUTENsHBIX. Eciin OykBamu Ss — 0003HAUUTH KOTUYECTBO Cy(d-
(UKCaTBHBIX CYIIECTBUTEIBHBIX, a OYKBOW S — 00IIee KOJIMYECTBO CY-
mecTBuTeIbHBIX Ha 100 CIIOB TEKCTa, TO OTHOLIEHHUE /s SBJIAETCS WH-
JeKcoM cy(durcanuy CymecTBUTENBHBIX; 5) YCTAHOBUTh MHIIEKC CIIO-
BOCJIOXKEHHUSI KONU4YecTBO cymecTBuTenbHeIXx Ha 100 croB TekcTa, TO
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OTHOLIEHHUE /s ABJIAETCA MHAEKCOM CY(P(HUKCAINM CYIIECTBUTEIBHBIX;
6) yCTaHOBHUTH MHJIEKC CIIOBOCIOXKEHHS CYIIECTBUTENBHBIX. Ecim Oyk-
BaMH Sz — 0003HaYUTHb KOJWYECTBO CJIOXKHBIX CYIIECTBUTCIBHBIX,
a OykBo# S — ob1iee KoMH4IecTBO cyriecTBUTENbHBIX Ha 100 cioB Tek-
CTa, TO OTHOINEHHE /S SIBNISETCA MHIEKCOM CJIOBOCIOKEHHUS CyIIle-
CTBHUTENBHBIX.

I1l. laTp oO1uit BEIBOA O XapakTepe CXOJCTB M PA3IUIHA MEXKITY
AQHTJIMACKUM U PYCCKHM S3bIKAMH B IOACHUCTEME CIIOBOOOpa30BaHUs
CyIIECTBUTENbHOTO [22].

Analyze this paragraph in the respect of word-building. Translate
the text.

For quantum computers to perform as hoped, they will probably
need millions of quantum bits, or "qubits," as well as ways to conduct
operations between qubits distributed across large-scale machines and
networks. Teleportation of logic operations is one way do that without
direct quantum mechanical connections (physical connections for the
exchange of classical information will still be needed). The NIST team
teleported a quantum controlled-NOT (CNOT) logic operation, or logic
gate, between two beryllium ion qubits located more than 340
micrometers (millionths of a meter) apart in separate zones of an ion
trap, a distance that rules out any substantial direct interaction. A
CNOT operation flips the second qubit from 0 to 1, or vice versa, only
if the first qubit is 1; nothing happens if the first qubit is 0. In typical
quantum fashion, both qubits can be in "superpositions™ in which they
have values of both 1 and 0 at the same time. The NIST teleportation
process relies on entanglement, which links the quantum properties of
particles even when they are separated. A "messenger" pair of
entangled magnesium ions is used to transfer information between the
beryllium ions (see infographic).

Task 2. Is the word-building activity of analyticized and synthetic
words the same (identical) in the English language? Prove your point
of view using a one-page text from the book you are reading now.
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3AHSATHE 5.
THUITOJIOTI'UA JEKCHYECKHUX CUCTEM.
CEMAHTHUKA AHIJIMACKUX U PYCCKHX CJIOB.
THUITBl CEMAHTUYECKHUX U3MEHEHUI

Task 1. Answer the guestions.

1. What is “meaning”? How is lexical meaning of the word differ-
ent from its grammatical meaning?

2. Which linguistic universal connected with polysemy do you
know? Which words — polysemantic or monosemantic predominate in
English? In Russian? Why?

3. How can you account for the fact that native words have a well-
developed semantic structure while borrowed words possess a poorly-
developed semantic volume?

Task 2. Read the text and explain the difference between the three
examples showing the relationship between the form and meaning of
the word. Which is of interest for comparative semantic analysis in
different languages?

First, there is in every language a certain lexical subsystem, which
is more or less independent to the linguistic form in which it exists.
Thus, for example, in cases like two, seventy-five, or one hundred and
two, etc. we deal with those subdivisions of the word-stock of the lan-
guage, for which in a civilized society there is a well-established sec-
ondary semiotic system. Whenever we have something, which exists in
other civilized societies in the form of a secondary semiotic system we
have to admit that although there is a certain difference between these
lexical subsystems (French: deux, soixante quinze, sent-deux; Russian:
JIBa, CEMBJIECAT TIATh, CTO aBa) it is, by and large, immaterial.

The second type can be conveniently exemplified by the “arm-
hand” situation. We look at the upper limb of the human body which
has been “reverberated” by the human mind since time immemorial,
and find that in English it is divided into two parts: hand and arm. In
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Russian the whole limb is indiscriminately called pyxa. The difference
between pyxa, on the one hand and arm and hand, on the other, clearly
indicates that the meaning of words is the particular reverberation
which consists in slicing up, cutting up reality in this or that way. In our
case the Russian language does not cut it up and has only one word -
pyka, while the English language cuts it up into two parts - hand and
arm. This is, comparatively speaking, a simple case of relationship be-
tween form and content because in this case we can actually see what
happens. We look at the object and say: this is the arm and this is the
hand, or this is the leg, and this is the foot, while in Russian the whole
limb is merely pyka or noca. What in English is called little finger is
monolexemically expressed in Russian as musuney. Conversely, in
English we do not speak of a big finger but a thumb.

The situation becomes far more complicated when we reach the
third category - word like fancy, disdain, horrible, terror, etc. because
their referent, that is the object of thought correlated with a certain lin-
guistic expression, is not directly cognoscible. The content of these
words is such a complex combination of different “reverberations” that
to understand the difference between to fancy and to like, or horrible
and terrible a serious lexicological investigation has to be carried out.

This is the reason why some people say that words of this kind in
general cannot be referred to anything in objective reality, that in this
case it is not a question of reverberation, but of primacy of language, of
“mind” before “matter”. Nothing, however, can be further from the truth.
The difference between 1, 2, and 3 is just in different kinds of reverbera-
tion, degrees of complexity of reverberation [11].

‘DO IT ON YOUR OWN’ Section

Task 1. A. Read the text and explain the difference between a
polysemantic word and a word with a wide scope of meaning.

Side by side with polysemantic words there are words with a wide
scope of meaning (mmpoxo3naunsie ciaosa). To discriminate between a
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polysemantic word and a word with a wide scope of meaning we are to
remember that the former (a polysemantic word) expresses several no-
tions while the latter (a word with a wide scope of meaning) expresses
one notion which is wide. It may be so wide that it embraces severel
notions expressed by different words in another language. For example,
‘to go’ as a polysemantic word eXpresses the notions: 1) “to move”,
2) “to extend”, 3) “to work™ etc. It is semantically wide when it is con-
nected with one and the same notion — that of movement. Compare:
“It’s time for me {0 g0”, said the boy (uaTm); “It’s time for me to go”,
said the bird (nerets); “It’s time for me to go0”, said the fish (mwibiTh);
“It’s time for me t0 g0”, said the snail (mon3tn).

B. Translate the sentences into Russian. Pay attention to the word
“thing”.

1. She was a pretty little thing.

2. The thing is that | was ill.

3. — The thing that he was holding in his hand looked familiar.

— Yes, it was my handkerchief.

C. Analyse the following examples (borrowed from Oscar Wilde)
and say which - an English verb or its Russian equivalent - has a wider
scope of meaning. What linguistic means help to render shades of
concrete meaning in both the languages?

1. All day long he flew.

L]enviii denv remena owa.

2. Then, when the autumn came, they all flew away.

Tlomom Hacmynula OCeHb U 1acmovKu yiemeiu.

3. Fly over the city.

Obnemu dice motl 20poo.

4. When she saw it she flew over to it.

Conosgetl yguoen e2o, nooiemen K Hemy.

5. After they had gone he felt lonely.

Koeoa onu yaiemeiu, Jlacmouxa novyecmeoeaia cebs cupomoro.
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6. “I am going to Egypt”, cried the Swallow.

— A ynemaio 6 Ecunem! — coobwuna um nacmouxa.

7. She sang of the big whales that come down from the north seas.

Ona nena 06 OZCPOMHbBLX KUmax, npunjivlearomux U3 Ce6epHulx Moped.

8. ... All the tunny-fish came in from the deep to listen to her.

Cmau MYHYO086, umobwl nociayuiams ee, 6blniblediu U3 MOPCKUX
anybun [19].

D. Prepare your own examples of this kind.

Task 2. Study the text below. After you have read it find your own
examples of that kind using Oxford English Dictionary.

As Howard Jackson points out in Lexicography: An Introduction
(2002), "Etymology ... merely provides some passing insight for the
interested dictionary browser with the requisite background knowledge
and interpretative skills."”

Of course you don't have to be a misguided purist to take an inter-
est in word histories. For example, a brief tour of the Oxford English
Dictionary can help us understand why, etymologically, there's:

¢ No Good in Goodbye Goodbye is a contraction of the blessing
"God be with ye".

¢ No Male in Female ”Female” comes from the diminutive of the
Latin word “femina” ("woman"). It made its way into English through
French as femelle.

e No Limp in Limpid Limp (an unsteady walk) is a word that
goes back to Middle English. It's unrelated to the adjective “limpid”
(clear or calm), which comes from the Latin word “limpidus”.

¢ No Noise in Noisome The adjective “noisome” has more to do
with the sense of smell than the sense of sound. It's derived from the
Old French word for "annoy," and means "objectionable, unwholesome,
foul-smelling™.

Still, it's best not to take such passing insights too seriously. (And
whether you like it or not, don't be surprised if one day noisome, for
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example, shows up in your dictionary as a rather pretentious synonym
for noisy.) [27]

Task 3. Translate the text

The new compound, which was tested in an animal model of mel-
anoma, could make current chemotherapies more powerful. It works by
thwarting cancer's ability to survive, evolve, and adapt to the DNA
damage created by traditional chemotherapy drugs like cisplatin.
"Chemotherapies are often effective the first time around, but then the
cancers mutate and become resistant to that drug, and the next, and the
next," said senior study co-author Pei Zhou, Ph.D., a professor of bio-
chemistry at Duke University School of Medicine. "It reminds me of
Boggarts, those shapeshifting creatures from Harry Potter that morph
from one scary thing to another. The beauty of this approach is that you
essentially freeze the Boggart in its current form, so you can kill it off
for good." The study was published June 6 in Cell. In their simplest
form, cancer cells are normal cells that are growing out of control. Each
time these cells divide, the DNA within them must replicate to generate
new copies to go inside each new cell. The first chemotherapy drugs
were based on the rationale that rapidly growing cancer cells would be
more sensitive to damage to their DNA. Drugs like cisplatin are de-
signed to damage DNA, causing the sensitive replication machinery
normally tasked with copying each strand to stall. If DNA replication is
stalled for too long, cell division halts, and cells die. The strategy is
brutal and effective, even curative in some cases. But long-term, it of-
ten fails, as cancer cells figure out a way to proliferate even in the pres-
ence of DNA damage.
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3AHSATHE 6.
THUITOJIOT' YA JTEKCUKO-CEMAHTHYECKHUX
CUCTEM

Task 1. Answer the questions.

1. What do we mean by ‘paradigmatic connections of words’?
‘Syntagmatic connections of words’? Give your examples.

2. What types of synonyms do you know? Give your examples.

3. What is ‘linguistic context’? Give your examples.

Task 2. Read the text and explain what is understood under “inter-
linguistic synonymy”.

INTERLINGUISTIC SYNONYMY

Translations from English into Russian with all certainty reveal a
tendency to substitute a concrete and expressive Russian word for a
more abstract and neutral English synonym. Thus, a girl is called wild
in the original. The dictionary gives a variety of synonyms for it:
oukast, oyunas, neobysoannas, Heucmosast, bewenas all of which lack
freshness and expressiveness, but the translator rises to the occasion
finding wanenas yet another synonym, more emotionally coloured and
to the point. Likewise, English horse is not invariably zowaos but xous,
arcepebey, pwicak, eoponoll, ckakyn. multitude is not always mwoorce-
cmeo, but — yiima, 6e3ona, mema, npopea.

On the contrary, as we can often see in English translations of
Russian prose, a concrete and expressive Russian word tends to be
rendered by a more abstract English synonym. For example Russian
coeopums, CKazamv, MOJI6UNMb, NPOMOJIBUNTb, 6blcOBOPUMb, NPOUSHE-
cmu are translated by means of one and the same verb to say:\

— Xopomo! — ckazan s B “All right” said I, perplexed.
HEJIOYMEHHUH. “That is how she always is”
— Bor ona Bcerna Tak, — npo- | said Marya Dmitrievna.
2osopuna Mapus [ImutpuesHa. “You don’t recognize me”,
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— Bbl MeHS He y3HaeTe, —
NPOMOJIGU] OH, CHUMAS IIIJIAILY.

«lIpomry, ymousto Bac, — 6bi-
eosopun, HaxoHen, Crapues,
OyIpTe Moeit xeHOM !».

— CoBeTy0 BaM NOAyMaTh O

he said, taking off his hat.

“l beg, I beseech you”
Startsev said at last, “be my
wife”.

“I’d advise you to think of
your mother”, he said [14].

Balllel MaTEPH, — NPOU3HeC OH.
Task 3. Read the text and speak about the two types of antonyms
described in it. In what meaning is the term “antithesis” used in it?

ANTONYMY

Some authors reasonably contend that if there are universal laws of
thought which are reflected in the laws of change of meaning, the
contradictory opposition lies at the basis of antonymy.

Antonyms  express contrary and contradictory notions.
Contradictory notions utterly deny one another: artistic :: inartistic.
Contrary notions which are as inconsistent as contradictory ones may
have intermediary elements, e.g. beautiful: ugly have as intermediary
notions pretty, good-looking, plain, etc.

There is nothing intermediary between xozocmoi and swcenameoiii,
mepmewiii and orcusou Which makes the negation of one state practically
equal to the affirmation of the opposite state. It is not accidental,
therefore, that a word of this type (x) may have two antonyms: one
expressed by a word of a different root (y), the other by the word itself
with the negative particle (He X): orcerambiii — xon0cmot = HedceHa-
Mblil, HCUBOU — MEPMBBLL = HENCUBOL, 3PAUULL — CTIeNOU = He3PAYUL.

The negative particle ne- as a means of expressing antonymic
relations plays a very important part in the sphere of Russian qualitative
adjectives rich in antonyms: mepnenuswiii — Hemepneauswiii, yOauHblil —
HeyOauHblil, 3HaKomblll — He3naxomolil, etc. It is evident that the above
pairs do not present the same opposition as Genwiii — ne Genwlit, 2060-
pumb — He 2080pums, etc. The wide use of the particle is accounted for
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by the fact that the negative particle and the negative prefix are
homonymous as a result of the fusion of ne and HH> formerly
phonetically different. The prefix ne- expresses various shades of
negative colouring: remepnenusuviii, Hebonvwiou, €tc., whereas the
negative particle ue expresses various degrees of negation. This
homonymy nowadays leads to misunderstanding, i.e. nominal
predicates may be interpreted in two ways - both positively and
negatively: on ne nosxuii and on nenosxuii (il n’est pas adroit and il est
maladroit), on mne mne npusmens and ow mme nenpusamens. The
ambiguity depends first of all upon the absence in modem Russian of
the verb 6eime in the positive and the negative forms. The participle ne
functions negatively as the substitute of the 3™ person singular (uu>,
HH>Cmb).

Whereas in Russian the negative particle and the negative prefix
are  homomorphemes, the English negative particle not is
morphologically unrelated to the prefixes dis-, il-/im-/in-/ir- and un-.
Syntactic negation by means of this particle (not to believe) is weaker
than lexical antonymy (to disbelieve). Nevertheless, the negative
particles and other negative morphemes make it possible to express the
same idea in English and Russian by means of antonyms:

And now that | am dead they U BoT Temnepsh, KOTa 51 yiKe He
have set me up here... 24CUB0LL, MEHS TIOCTABUIIM 37I€Ch.
“How very silly of him not to Kak 3to rirymo, 4to oHa yie-

stay here” said the Rocket (OW). | mena! — cka3zana Pakera.

Antonyms are often used in English and Russian to express an
antithesis, i.e. an opposition of ideas expressed by parallelism of
strongly contrasted words. Absolute antonyms are regularly contrasted
in idiomatic expressions which itself may be considered a proof of their
antonymy. Contextual co-occurrence of antonyms may be completely
identical in English and Russian:

heads or tail — open unu pemka
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sooner or later — pano wim O30HO

ups and downs — B3JIE€THI U MAACHUS

In many cases an English pair is paralleled by a pair of different
antonyms in Russian having the same meaning in English:

neither here, nor there — uu k ceny, Hi K TOpoIY

to sink or swim — 6bL1a HE ObLIa

for better, for worse — Ha rope u pagoctsb

Typical of modern Russian are hyphenated antonyms: npuem-
evloaua, sonpocwi-omeemsl, sxcnopm-umnopm, some of which have
antonymic counterparts in English:

Kymis-nipoaaxa — sale and purchase

npuxoa-pacxon — debit and credit

Brepen-tHasazn — to and fro [14].

Task 4. Read the texts and speak about international and national
idioms. Bring back to memory academician V.V.Vinogradov'’s classifi-
cation of phraseological units. To which group of this classification
would you refer national phraseological units? International phraseo-
logical units? Why?

INTERNATIONAL IDIOMS

International idioms may be similar not only in structure but in im-
agery and meaning. A high degree of such equivalence is observed in
English and Russian phraseological units ascending to antiquity, bibli-
cal tales or other foreign sources. Such idioms are called international-
isms, or interlingual phraseological equivalents:

a) Mythological:

the heal of Achilles — axummecosa msra — a vulnerable spot

to cut the Gordian knot — paspy6urs ropaues ysen — to sole a
problem by force

an apple of discord — s6moko paznopa — smth to quarrel about

b) Biblical:

a wolf in sheep’s clothing — Bosik B oBeubell mKkype
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a voice of one crying in the wilderness — rmac Bomuromero B my-
CTBIHEC

lost sheep — 3abnyamas oBia

the root of all evil — kopens 3ma

the root of the matter — cyTs nena

men of good will — moau 106poii BoH

the slaughter of the innocents — n36uenue MaacHIEB

the salt of the earth — coss 3emmu

in the sweat of one’s brow — B rmoTe nura

a doubting Thomas — ®oma HeBepyroHMit

in the twinkling of an eye — B MruoBeHue oka

All these expressions form part and parcel of English as well as
Russian phraseology. Their common feature is that they can be easily
translated from one language into another [14].

NATIONAL PHRASEOLOGICAL UNITS

Equivalence of phraseological units containing obsolete words is
reduced practically to nought. Such expressions as Russian #u zeu Eng-
lish hue and cry comprising the words 3ea and hue, no longer used as
free lexemes, constitute the greater part of idioms. Their overall mean-
ing appears, at least to a present-day speaker of the language, as totally
unmotivated, i.e. their meaning is not connected with the meaning of
the component words.

Russian unmotivated idioms are paralleled by motivated English
counterparts or free word-combinations and words:

OuThH OarTyIn to twiddle one’s fingers
TOYUTB OaJISIChI to talk nonsense

04epTsi TOJIOBY head foremost

HCEPOBCH 4acC one can never be too sure
M HAKAKHUX T'BO3JICH and that’s all there’s to it
MOTACTh BITPOCAK to put one’s foot into one’s
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MEPEMBIBATH KOCTOUKH mouth to pick somebody to pieces

Likewise, it is next to impossible to find a Russian equivalent to
some English praseological units:

rank and file — psimoBrie r0IH,

in a trice — B oqHO MrHOBeHME (B MTHOBEHHE OKa),

not a whit — auuyts [11].

‘DO IT ON YOUR OWN’ Section

Task 1. Study the English and Russian texts given below and do
the following:

1. Choose several analogues in these texts and compare their
semantic volume and semantic structure. Do the semantic structures
coincide in all their meanings? What principle is the main one in your
analysis?

Note: analogues should be notional words - nouns, verbs,
adjectives.

2. Choose several native and borrowed nouns (verbs, adjectives...)
in the English text. What can you say about their semantic volumes?

3. Are there synonyms in these texts? Are they registered in
dictionaries or contextual? Are their shades of meaning and stylistic
connotations preserved when translating from Russian into English ?

4. Are there antonyms in the texts? Do they express contrary or
contradictory notions?

5. Are there homonyms in these texts? What type of homonyms
are they?

B. COJIOYXUH. BAPOMETP

Jloxae — He OT cltoBa Jia «aaxap»? Jlait, momaii, momapu. Joxs,
OKITH, TOKAWYEK, 3an0kamio. O0moxkHbIe MoKau. HakpamsiBaer, Mo-
POCHUT, JILET KaK U3 BeJpa. Terbiii HOUHOU JOXKIANUEK — OTKPBITH OKHO —
UIYpILIUT B KpanuBe, B JIUCTBE IECPEBBEB... A TO COBCEM IpO3anyecKas
¢dpaza u3 MIKOJBHOIO YueOHHKa JIJIsl YeTBepTOro kiacca: «Kpyrosopor
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BOJBI B MMPUPOIe». ITa Ka3eHHas (pa3a Bcerma ObUIa 11 MEHS HCITOJ-
HeHa TIy0oKoii mos3uu. Koraa st moBTopsis ee To po ceds1, TO BCIyX MO
HECKOJIbKY pa3, MHE Ka3aJloCh, YTO 3TOH (pa3oil MOKHO HA3BaTh KHUTY
CTHXOB, N03My. «KpyroBopoT Bozmbl B IpHUpOAE, KPYTOBOPOT BOABI B
HIPUPOAE», TBEPIWI 51, © OAHOBPEMEHHO PUCOBAJINCh MHE CKBO3b CTEK-
JSTHHYIO TIPO3PAvHOCTh CJIOB (Kak OJHOBPEMEHHO MBI BUAMM, YTO Jie-
JKUT 3a OOJBIIMM CTEKJIOM BUTPHHBI M YTO HA HEM OTPaXEHO) Oerble
KydeBble OOJIaka, IUIBIBYIIME, CJIOBHO IIapyca, [0 CHHEMY JIETHEMY
HeOy. [loToM HauMHAeT CUHETh, TEMHETh, HAJMBATHCS JIMIOBOI YepHO-
TOW OOWH Kpail Heba, HaYMHaeT TAHYTh OTTy/Aa IMPOXJIaJON M BIarow,
CBEXKHH BeTep HEOKHIAHHBIMUA KOPOTKHMH TIOPBIBAMH TPEBOXKUT JIUCT-
BY, ¥ BOT y’Ke TIOJIOBHHA HEOECHOM chephl 3aHATa HABUCAIOMIEH 1 KaK Obl
Hecyllel yrpo3y Tyded, 1 HauMHAIOT yIOapsTh MOJHHH CBEPXY BHU3, U
NepBbIe KPYIMHBIC KAl CBEPTHIBAIOTCS B IIAPUKU JOPOKHOHM MbLIH,
NpEeKIe YeM XJIBIHET, OCBEXKHT, HAMOET, CMOET; MOTEUEeT Py4bsSIMH, 3a-
CBEpKAET JIy’KaMH, 3aCBETUTCS Ha TPABE U JIUCTHSAX, IIOCIIE TOrO KakK Ty4ya
yKe MpOoIIa HaJ HAaMU U TIOJIMBAET TEHepb 3eMJIM APYIHX EPEBEHb U
cen. HaunHaeT Bce KpyTUTBHCS JIETKUM MApKOM, HCHapsieTcsl, 00ChIXaerT,
BO3HOCHTCS KBepXy. Kpyrosopot Boje! B ipupose... [19: 37].

V. SOLOUKHIN. THE BAROMETER

There are many words to denote rain. Rain, showers, downpours.
Rainy spells. It’s trickling, drizzling, pelting down. A warm night rain -
you open the window - it patters in the nettles and tree leaves... Then
there is the flat definition from the fourth-form text-book. “The circula-
tion of water in nature”. This stiff phrase has always been full of pro-
found poetry for me. | used to repeat it sometimes to myself, sometimes
aloud, thinking it would make a good title for a book of verse, or a long
poem. “The circulation of water in nature”, I said over and over again,
and through the glasslike transparence of the words (as we see not only
what is behind a shop window but what is reflected in it) | saw white
cumulus sailing over a blue summer sky. Then the sky turns a deeper
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shade of blue, darkens, and one edge is shot with a lilac blackness,
coolness and dampness spread, a fresh wind disturbs the leaves with
short sudden gusts, and now half the heavenly sphere is covered by a
menacing cloud, the lightning flashes downwards, and the first heavy
drops cluster in the dusty road, before the rain comes pelting down, re-
freshing, quenching and cleaning all around. It runs in rivulets, shines
in puddles, gleams on grass and leaves, while the thunder cloud, that
has passed over, is watering the soil of other villages and hamlets. Eve-
rything begins to steam lightly, evaporate, dry up, and be borne aloft.
The circulation of water in nature... [19: 38]

Task 2. Find homonyms for the following words. Give their Rus-
sian equivalents. Is it possible to find homonyms for them in the Rus-
sian language as well?

Band — a company of musicians; seal — a warm-blooded, fsh-
eating sea-animal, found chiefly in cold regions; ear — the grain-bearing
spike of a cereal plant, as in corn; cut — the result of cutting; to bore —
to make a long round hole, esp. with a pointed tool that is turned round;
a corn — a hard, horny thickening of the skin, esp. on the foot; fall — the
act of falling, dropping or coming down; to hail — to greet, salute, shout
an expression of welcome; ray — any of several cartilaginous fishes, as
the stingray, skate, etc.; draw — something that attracts attention
[1:178].

Task 3. Translate this text paying attention to the Russian equiv-
alents of the technical terms

Without any thought, we can gently stroke a puppy or firmly shake
someone’s hand, but today’s robots are unable to distinguish these
types of touch. The absence of simultaneous monitoring of tactile pres-
sure and temperature change is the main obstacle, according to Kuni-
haru Takei, a professor in OPU’s Department of Physics and Electron-
ics and the head of the research group. Creating elastic, flexible soft
robotic hands was the barrier for the integration of multiple sensors.
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OPU researchers have for the first time successfully integrated multiple
nanotube-based tactile and temperature sensors into a pneumatic bal-
loon-based soft robotic hand without sensitivity to bending of the struc-
ture of the hand. An array of four tactile sensors and one temperature
sensor based on highly conductive single wall carbon nanotubes can
monitor sliding or slipping movements of an object from a robotic hand
by detecting the time delay of the tactile force. This provides real-time
feedback so that the robotic hand can adjust the actuation force to pre-
vent dropping the object.

Furthermore, a robotic hand with nanotube-based sensors can de-
tect the tactile force and temperature generated by a human hand, while
each sensor measures the tactile force generated by a human finger in-
dependently. These functionalities give the soft robotic hand the capa-
bility to imitate human fingers and shake hands with a human. The
sensing mechanism for tactile sensors utilizes the contact resistance
change between silver thread and paper with a flexible, conductive sin-
gle wall carbon nanotube layer. For temperature sensing, a mixture of
single wall carbon nanotubes and tin (IV) oxide (SnO2) enhances the
temperature sensitivity and also enhances the stability of long-time
sensing. For both devices, TUBALLTM single wall carbon nanotubes,
produced by OCSiAl, were used.
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3AHSATHE 7.

THUITOJIOT' YA TPAMMATHYECKUX CUCTEM.
KATEI'OPUU CYIIECTBUTEJBHOI'O,
I'VIAT'OJIA, ITPUJIATATEJIBHOT'O
B AHTJIMAACKOM U PYCCKOM SI3BIKAX

Task 1. Answer the questions.

1. What are the typical features of an analytical type of language
that English has?

2. How many cases are there in English? What makes up for such
a limited number of cases in English?

3. What nouns are called ‘pluralia tantum’? “Collective nouns”?
“Nouns of multitude”? Give examples.

4. How do common and perfective, continuous and imperfective
aspects correlate in English and in Russian?

5. What do we understand by ‘absolute tenses’? ‘Relative tenses’?

6. How many voices does an English verb have? A Russian verb?
What are they called?

7. What kind of object can become the subject of a passive con-
struction in English? Of a construction with cmpaoamenvueiii 3anoe in
Russian?

8. What are the grammatical categories of adjective in English? In
Russian?

9. How are the comparative and superlative degrees of comparison
of adjectives expressed in English and in Russian?

10. What is ‘elative degree of quality’? How is it expressed in the
languages under comparison?

Task 2. Write the words in the plural.

a) boy, day, Sunday, city, puppy, cry, berry, valley, monkey, story,
storey, Gypsy, fly, butterfly, sky, ski, penny;

b) potato, piano, hero, photo, Negro, cargo, kangaroo, cuckoo;

c) knife, roof, life, cliff, chief, handkerchief, wolf, thief, wife.
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Task 3. Write and pronounce, using the nouns in bold type, first, in
the singular, then in the plural.

1. Bring a small knife from the kitchen. 2. There was a high cliff
in the sea. 3. The yellow leaf fell from the tree. 4. The President wants
to speak to the chief of the staff. 5. Your handcuff is unbuttoned. 6. |
want to buy a new handkerchief. 7. The cow had one calf. 8. The rain
fell on the roof of the house. 9. Can you give me any proof of that? 10.
This thief can open any safe.

Task 4. Put "one” or “several” before the given words. sheep,
deer, fish, cod, pike, trout, means, series.

Task 5. Read the sentences changing the number of the nouns in
bold type.

1. Have you ever seen how a wolf runs after a deer? 2. We stopped
our car because a sheep was crossing the road. 3. | caught a big fish
yesterday. 4. In old times an ox was often used in agricultural work.
5. A trout sparkled in the stream. 6. These women had their teeth filled
yesterday. 7. There is a well-known means how to do this. 8. Television
is now showing a new series of the film.

Task 6. Put in one of the words given in brackets.

1. A fish ... not really a silent animal (is / are). 2. Fish usually ...
silent when they hear a ship coming near (fall / falls). 3. Some
not begin to make sounds until the sun sets (fish / fishes) (do /
does). 4. Grown-up fish ... able to produce sounds (is / are). 5.
Some ... able to produce ultrasounds (fish / fishes) (is / are). 6.
There ... a lot of frozen fish in the shops, but not... fresh fish
(is / are) (much / many). 7. Fish... not live without water (do /
does). 8. How ... fish have you caught since morning? (much /
many). — Only three little ... (fish / fishes). 9. How many ...
there in your aquarium? (fish / fishes) (is / are). 10.
Freshwater... cannot live in the sea (fish / fishes).
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Task 7. Put the nouns in bold type in the plural.

1. I heard the voice of a passer-by. 2. This young man was a boy-
messenger for the commander-in-chief. 3. | sometimes visit the fami-
ly of my fellow-student. 4. In this park your child can ride on a mer-
ry-go-round. 5. They found a terrible draw-back in my plan. 6. What
kind of thing is called a tin-opener? 7. Is it true that a boy usually
likes to have a man-teacher and a girl prefers a woman-teacher? 8. In
what country does a Dutchman live? 9. In what town does a Roman
live?

Task 8. Choose a suitable verb form.

1. My family ... of my sister and me. (consist / consists). 2. My
family ... great music lovers, (is / are) 3. The crowd ... moving to the
center of the city, and the police ... trying to stop them, (was / were)
(was / were) 4. We must wait till our luggage ... taken out of the
airplane, (is / are) S. The crew of the ship ... having a rest on the shore,
(was / were) 6. Our team ... playing with your team next Sunday, (is /
are) 7. Any people ... a right to be independent, (has / have) 8. My hair
... very fast, (grow / grows) 9. The cattle ... now in the field, (is / are)
10. What fruit. . . there in your garden? (grow / grows) [7: 368-379].

‘DO IT ON YOUR OWN’ Section

Task 1. Replace the Active by the Passive and vice versa.

When Mr. Otis, the American Minister, bought the castle Canter-
ville, its owner, Lord Canterville, explained to him that a ghost haunt-
ed the place. 'We have not lived here ourselves,’ he said, ‘since my aunt
was frightened by two skeleton hands that were put on her shoulders
while she was dressing for dinner.” Seeing that Mr. Otis did not believe
him, he added, ‘T must tell you, Mr. Otis, that the ghost has been seen
by several members of my family. It has well been known for three
centuries, and it appears before the death of any member of our family.’

However, the house was bought, and a few weeks later the family
went down to Canterville. Besides Mr. Otis and his wife there was their
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eldest son, who had been named Washington in a moment of patriot-
ism, and was known as a fine dancer; also their little daughter and the
twin brothers, who were usually called ‘The Stars and Stripes’, because
they were whipped regularly.

The family entered the house and were met by the old housekeep-
er, who said that the tea was laid out for them. They sat down and be-
gan to look round. Suddenly Mrs. Otis noticed a red stain on the floor
and said to the housekeeper, ‘I am afraid something has been spilt
there.” “Yes, madam,’ replied the housekeeper in a low voice, ‘blood
has been spilt there.” ‘How terrible,” cried Mrs. Otis, ‘It must be re-
moved at once.’The old woman answered smiling, ‘It is the blood of
Lady Eleanore, who was murdered here by her husband in 1575. He
disappeared, and his body has never been found, but his spirit contin-
ues to haunt the house. This bloodstain has been much admired by
tourists, and cannot be removed.’

‘That is all nonsense,” cried young Washington Otis as he fell on
his knees and began to clean the floor with some cosmetic. In a few
moments no blood stain could be seen. ‘I told you it could be easily
removed!’ he said. But at this moment a sadden flash of lightning was
seen, and a terrible peal of thunder was heard, and the housekeeper
fainted. [7: 215-233].

Task 2. Read the text and speak about the common mistakes in the
use of English tenses. What can the techer do to prevent such mistakes?

COMMON MISTAKES IN THE USE OF THE TENSES

Russian student of English make a lot of mistakes in the use of the
tenses, some of the them being typical:

A. The following examples show the tendency of Russian
students to confuse an action taking place at a given moment in the
present or in the past with a habitual action or a simple fact.
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Correct Wrong
I wash myself every day. I am washing myself every day.
| always take a cold bath. I am always taking a cold bath.
It snows in winter. It is snowing in winter.
Do you speak English at home? Are you speaking English

at home?

When I was ill my doctor came to | When | was ill my doctor
see me every day. was coming to see me every day.

This mistake is in all probability caused by the identity of the two
forms in Russian:

51 nepesooicy ¢ anrmmiickoro ceiyac (Present Continuous).

S nepesooicy ¢ aHTTIMICKOTO KaXKIbli JEHb (Present
Indefinite).

But the Continuous tenses add much to the expressiveness of
English. They are used instead of the Indefinite tenses in emphatic
speech: This dog always barks at strangers (a habitual action). This dog
is always barking at strangers (a habitual action, with a shade of
displeasure).

B.  The given examples account for a most common mistake.
So far as the English consider a future tense in the principle clause
enough to make the meaning of the whole sentence future.

Correct Wrong

When | am free | shall come to see | When | shall be free I shall come

you. to see you.
If the weather is fine | shall come | If the weather will be fine | shall
to see you. come to see you.

It is well known that we generally use the present instead of the
future after if and conjunctions of time such as when, as soon as, after,
before, while and until. In fact, the rule is much more general than this.
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We use the present instead of the future in most subordinate clauses, if
the main verb of the sentence is future or has a future meaning. The
present is used, in these cases, not only after if and conjunctions of
time, but also after relative pronouns, after as, than, whether, where and
in reported speech. In other words if the whole of the sentence is about
the future, one future tense is enough to show this.

The first person who opens that door will get a shock. (Russian —
omKpoem);

I’ll have a good time whether | win or lose. (Russian — swsiuzparo
unu npouparo);

I’ll go where you go. (Russian — noiioeme).

When we talk about things that have already been decided we use
the going to structure or the Present Continuous but not the shall /will
future:

Correct Wrong

She’s going to have a baby in | She’ll have a baby in June.
June.
Or: She's having a baby in June.

If we say She’s going to have a baby or The Browns are coming to
dinner, we are not only talking about a future event but also about an
existing present situation: a woman is pregnant or an invitation has
been given and accepted. In cases like these we most often use either
1) the Present Continuous or 2) the present form am/are / is going to +
infinitive:

Correct Wrong
The Browns are coming The Browns will come to dinner.
to dinner.
I’m going to work this evening. I will go to work this evening.
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Russian learners of English mix up these forms because the
constructions She is having, She is going to have, She 41 have are all
equivalent to Russian: V nee 6yoem. V nee 6yoym.

C. These examples show that Russian students are apt to use
the Present Perfect tense instead of the Past Indefinite and vice versa
because in Russian there is only one form: 4 sudexn ee na smoii nedene.
A suden ee Ha npownoii Hedere.

Correct Wrong

| saw Mary yesterday. | have seen Mary yesterday.

When did you see him? When have you seen him?

In British English, the Present Perfect is used with just to talk
about very recent events. Americans usually use the Past Indefinite with
7 — “She’s just gone out” (US: “She just went
out”). The Past Indefinite is used with just now which means the same
as just: I fell downstairs just now = I’ve just fallen downstairs (Wrong:

just: “Where is Lucy?

I've just now fallen downstairs).
D.

Correct

Wrong

I’ve known her for a long time.

I know her for a long time.

We’ve lived in this street for
fifteen years.

We live in this street for fifteen
years.

When she arrived | had been wait-
ing for two and a half hours.

When she arrived | was waiting
for two and a half hours.

He has been living in his aunt’s
flat for the last month.

He is living in his aunt’s flat for
the last month.

His parents have lived in Bristol
all their lives.

His parents live in Bristol all their
lives.

The mistakes in the above examples are probably due to the
identical translation of the English tense forms into Russian:
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I know / I’ve known — $I 3Haro.
We live / We have lived / We have been living — MsI sx1Bem
I was waiting / | had been waiting — £ »xnaun.

The Present Perfect Continuous is used especially for more
temporary actions and occupations: for the last month (example 4),
whereas the Present Perfect is preferred for more permanent situations:
all their lives (example 5) [16: 28-36].

Accordingly, in the part “Activities” we offer tasks based mostly
on the use of frequent tenses,, i.e. covering the first three groups of the
English tenses mentioned above: the Present Indefinite, the Present
Continuous, the Present Perfect, the Past Indefinite, the Future
Indefinite, the Past Continuous, the Past Perfect, the Present Perfect
Continuous, the Past Perfect Continuous.

Task 3. A. Put the verbs in brackets into the correct tense: Present
Perfect or Past Simple. (In some cases the Present Perfect Continuous
is also possible.)

1. Paul: I (play) football since | was five years old.

Tom: You (play) since you (come) to England?

Paul: Oh, yes. I (play) quite a lot. | (join) a club the day after I
(arrive).

Tom: You (play) any matches?

Paul: We (play) about ten. We have two more to play. We (have) a
very good season, we (win) all our matches so far, though we (not
really deserve) to win the last one.

Tom: | (play) football when | (be) at school but when | (leave)
school I (drop) it and (take) up golf.

2. Ann: Hello, Jack! I (not see) you for ages! Where you (be)?

Jack: | (be) in Switzerland. I (mean) to send you a postcard but |
(not have) your address with me.

Ann: Never mind. You (have) a good time in Switzerland? How
long you (be) there?
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Jack: | (be) there for a month. | only just (get) back. Yes, | (enjoy)
it thoroughly. I (ski) all day and (dance) all night.

Ann: | (ski) when | (be) at the university, but | (break) a leg five
years ago and since then I (not do) any.

3. When 1 first (come) to this house, it (be) a very quiet area. But
since then a new housing estate (be) built and it (become) very noisy.

4. My son (not start) work yet. He’s still at High School.

— How long he (be) at school?

— He (be) at High School for six years; before that he (spend) five
years at the Primary School in Windmill Street.

5. — I just (hear) that Peter is in Australia.

— Oh, you (not know)? He (fly) out at the beginning of the month.

—You (hear) from him? Does he like the life?

—Yes, | (get) a letter last week. He (tell) me about his job. But he
(not say) whether he (like) the life or not. Perhaps it’s too soon to say.
He only (be) there three weeks.

B. Put the verbs in brackets into the correct tense: Past Simple,
Past Perfect or Past Perfect Continuous.

1. He (give) me back the book, (thank) me for lending it to him
and (say) that he (enjoy) it very much; but I (know) that he (not read) it
because most of the pages (be) still uncut. 2. When he (see) his wife off
at the station, he (return) home as he (not have) to be at the airport till
9.30. 3. He (not have) to pack, for his wife already (do) that for him and
his case (be) ready in the hall. 4. He (not have) to check the doors and
windows either, for his wife always (do) that before she (leave) the
house. 5. All he (have) to do (be) to decide whether or not to take his
overcoat with him. In the end he (decide) not to. 6. At 8.30 he (pick) up
his case, (go) out of the house and (slam) the door behind him. 7. Then
he (feel) in his pockets for the key, for his wife (remind) him to double-
lock the front door. 8. When he (search) all his pockets and (find) no
key he (remember) where it (be). 9. He (leave) it in his overcoat pocket.

45



10. Then he (remember) something else; his passport and tickets (be) in
his overcoat pocket as well [29: 47-61].

Task 4. Read the text and speak about the types of adjectives in
English and in Russian.

In Russian there are four types of adjectives.

1. Qualitative adjectives express quality as such, for ex.: 6onbIoi —
MaJICHbKHM, TOJCTBIM — TOHKHUH, TOPSYUI — XOJIOIHBIH.

2. Relative adjectives express quality through its relation to other
things and actions, for.ex.: kameHHbIH (CHeTaHHBIA U3 KaMHS), BECEH-
HUI (XapaKTepHbIH JJIsl STOr0 BPEMEHH ro/1a), 3710i (Hecyuii 3110).

3. Possessive adjectives denote the possession of some object by a
person, for ex.: oo (mumKkak), xeHuHa (CymKa).

4. Evaluative adjectives denote the speaker’s attitude to things and
actions, for ex.: xopoluuii — MI0X0ii, MPeKpacHbIil — 6e300pa3HbIil.

Unlike their Russian counterparts, English adjectives may be sub-
divided into three classes.

1. Qualitative adjectives: big — small, thick — thin, hot — cold.

2. Relative adjectives: biological (connected with Biology), pho-
netic (connected with Phonetics or Phonology).

3. Evaluative adjectives: good — bad, beautiful — ugly.

Possessive adjectives are not to be found in English, their absence
is compensated by the possessive case of nouns: omyoe nuodxcax — fa-
ther’s coat.

The comparatively insignificant number of relative adjectives is
made up for by a specific type of attributive word-combination — N+N.
In such combinations it is the noun and not the adjective that performs
the function of an attribute: stone wall — kamennas crena, spring flow-
ers — BeceHnue 1BeThl. SUCh Word-combinations may be treated as «He-
CTOMKHE cIIoKHBIe ciioBay [18: 114-115].

46



3AHSTHUE 8.
THUIIOJIOI'UA TPAMMATHYECKUX CUCTEM.
THUITIOJIOT'UA CUHTAKCHYECKUX CUCTEM
AHIJIMICKOI'O U PYCCKOTI'O SI3bIKOB

Task 1. Answer the guestions.

1. What types of subject do you know?

2. What types of subject are characteristic of both — English and
Russian?

3. What types of subject can be called ‘specifically English’?

Task 2. A. Translate into English using the construction “there is".

1. Hag nBeppro marasuvHa Obula BeiBecka. 2. Ha 3TMx paBHUHax
OYeHb CONHEeYHO (sunshine) kpyrmerit rox. 3. B gome Oputa Gombinas
Bepanna. 4. [yn xomomHbelii Berep.5. B komHaTe cTosia THUIIMHA
(silence). 6. B ee romoce 6puta npustHas xpunotna (huskiness). 7. U
KakK pa3 B 3TOT MOMeHT nosBuiics [xetimc. 8. Kazanocs, xoHna He Oy-
IeT ee xkanobam. 9. B komHaty BOexanu aetu, Beceno cmescsk. 10. B To
BpeMsI He OBLIO HUKaKOW BO3MOXHOCTH TMONy4YHTh padoty. 11. Kaxercs,
HET MNPUYMUHBI OTKJIAAbIBATH PCHICHUC DTOr'0 BOIIPOCA. 12. OcraBanocs
TOJILKO TIOCAANTH (to put) Mdpu B 3KUTIaXK.

B. Translate the following sentences paying attention to the model:
there is + negation + gerund.

1. There’s no telling when I’ll be out. 2. There was no denying that
Constance had a lovely figure. 3. When he saw that there was no
persuading him to stay, he ceased to urge it. 4. There was never any
telling when he would turn up. 5. There was no evading his impudence.
6. Finally, he decided there was no knowing whether she believed the
story or not. 7. Mildred felt her tears coming now. There was no
resisting them.8. To him there is no escaping the fact that man is an evil
animal.

Task 3. Change the sentences according to the model:

It was easy to get on with him. — He was easy to get on with.
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1. It was difficult to persuade him. 2. It is impossible to understand
such things.3. It was unusual to find the collection in the house of a
planter. 4. It was good to bask in the sun of the Indian summer. 5. It
was almost impossible to obtain these small luxuries now. 6. It is very
difficult to get wine these days. 7. It was impossible to approach her on
the subject. 8. It was hard to put up with her temper. 9. But it was hard
now even to imagine that time. 10. It was hard to bear her malice all the
same. 11. It was not easy to enforce the laws. 12. It’s amusing to talk to
her and it’s nice to look at her. 13. It was very hard to please him. 14. It
was not so easy to catch him as all that. 15. It was wonderful to behold
Mrs. Towler’s face.

Task 4. Translate into Russian. Mind that the main meaning of the
verb "to be” (6srTh) is realized only in certain contexts.

1. Harris Boulton had been to school and university with Tom.
2. They had been on a motoring holiday in Canada. 3. “Where the hell” —
she was on her knees poking under the bed. 4. The rest of the afternoon
we were east and west worming out of reluctant grocers cans of peanut
butter, a wartime scarcity. 5. She was through the doors before | recog-
nized her. 6. The words were hardly out of her mouth before he had
sprung upon her and snatched the revolver out of her hand. 7. And Leo
too was suddenly there, through the door and into the large hall-like
room. 8. He was the first through the customs, and before the other pas-
sengers arrived, he could arrange with the guard for a sleeping com-
partment to himself. 9. If children are clever, they continue to receive
free education until they are eighteen, and even while they are at the
university. 10. She was almost to the comer when his voice stopped her.

Task 5. Translate the following sentences paying attention to the
italicized verbs.

1. “The point is, though,” she went on hastily, “I’ve suddenly de-
cided to — to run this troupe — | mean concert party. That horrid woman
decided me.” 2. Wasn’t that enough to decide him that life wasn’t
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worth living? 3. Robert Jordan could walk well enough himself and he
knew from following him since before daylight that the old man could
walk him to death. 4. | offered to walk her home. 5. Mammy hurried
Scarlett up the stairs. 6. And Soames hurried, ever constitutionally un-
easy beneath his cousin’s glance. 7. That was why I hurried you about
Grayhailock. 8. I have no money to waste on such trifles. 9. What a lot
of time that wastes. 10. The evening papers sell well because they print,
throughout the day, the latest sports results. 11. My father sells vegeta-
bles from a wagon. 12. The magazine was attacked on all sides. It sold
very poorly. 13. They farmed their own land and worked it themselves.
14. The control sector which Keith regularly worked comprised a seg-
ment of the Pittsburgh-Baltimore area. 15. You can’t possibly work
here. 16. He had worked the elevator in the house all afternoon.

Task 6. A. Translate into Russian. Pay attention to the use of the
verb "to look™.

1. Don’t look at him. 2. I know I’m looking like hell. 3. It looks
like rain. 4. Elliott in his well-cut dinner jacket looked elegant as he
alone could look. 5. He was a very learned man, but he didn’t look it
any more than he looked like my idea of a monk. 6. You don’t look an
old man.

B. Translate into English. Make use of the verb “to look”.

1. O cMoTpen nmpsMo Ha MeHs. 2. BbI BRITISAUTE dyAecHO. 3. DTO
TUIaThe He OueHb Tebe maeT (He cMoTputcs Ha Tebe). 4. OH HEeBaXkKHO
BEITISANT. 5. [loxoxe Ha TO, 9TO OyneT MoXkab. 6. Bam M0oXHO matTh et
16. 7. U3zaben kazanach OYeHb XOPOIICHHKOM.

C. Translate into Russian. Pay attention to the use of the verb "to
feel ™.

1. How do you feel? 2. I felt her trembling. 3. I’'m not feeling well.
4. Feel the cloth. It’s very soft. 5. You must feel very cold. 6. It didn’t
feel right — a dentist’s room without some stained glass. 7. It felt just as
it did at school when a bully I had been afraid of was turned out. 8. It

49



feels like someone kisses me there. 9. There are moments when it gives
you confidence to feel your fingers round the butt of a revolver. 10. His
lips felt dry. 11. Just for a shock of a second it felt like treading on a
snake. 12. The water felt good. 13. It was the first time in his life he felt
cold and hot at the same time.

D. Translate into English, using the verb “to feel”.

1. 5 mouyBcTBOBajd, 4TO KpacHero. 2. Eif, JOMKHO OBITH, OYEHB
’kapko. 3. OH cHOBa momrynan nopTtdens. 4. Y Bac, JOMHKHO OBITH,
OueHb 3aMep3nu pykd. 5. Kak Tel cebs gyBcTByemb? 6. S monoxmi
pPyKy eii Ha ronoBy. Bosiockl ee ObUIM TAaKUMH MSTKHMH U TEIUIBIMU.
7. Omymienue ObIIO Takoe, OyITO MOH COH cObIBalicsl HasiBy (t0 come
true). 8. Tem BpeMeHEeM OH BHIHUMAJ U3 YeMOJIaHa OJICXK Y B OBICTPO e¢
omymeiBat. 9. Ha camom nene B OonmbHUIE He OBLIO XOJIOAHO, HO Ka3a-
J0CK, uTO X0moaHo [20: 41-42; 47-49].
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3AHSATHE 9.
CPABHUMTEJIBHAS TUIIOJIOI'UA
N OCOBEHHOCTMU INIEPEBOJIA
TEXHHUYECKHUX TEKCTOB

Task 1. Read Chapter 8 in the text-book «Cpasnumensnas muno-
noeusy by B.J[.Apaxun [3] and answer the questions.

1. Kakue Tunsl ook Bel 3HaeTe? [IpuBeaute npumMepsl.

2. Uro noHuMaeTcs moj «uaTepdepeHnueii s3p1k08»? Kak 370 1mo-
HATHE CBA3aHO CO CPABHUTENIBHOM TUIOJIOTUEH?

3. KakoBbl THIIONIOTHYECKHE OMUOKK B oOnactu GpoHeTukn? Jlek-
cuku? I'pammatuku?

4. Yto maeT cpaBHUTENBHAS THUIIOJIOTHUS B IUIAHE TPEIYITPEKICHIS
OINOOK TUTIOJIOTHIECKOTO XapakTepa?

Task 2. Read the text and correct it. What are the reasons for these
mistakes? What mistakes (typological, personal, stylistic ...) have you
found?

Autumn. Seven a.m. in morning. In street dark and cold. Mother of
Pete wake him. He not want get up and go in school. He want sleep
more. He angry because rain strong. And now Mother in kitchen cook
breakfast. Breakfast she cook most tastiest.

Task 3. Read the text and analyse typological difficulties that Rus-
sian students can have while translating it.

Quantum teleportation transfers data from one quantum system
(such as an ion) to another (such as a second ion), even if the two are
completely isolated from each other, like two books in the basements of
separate buildings. In this real-life form of teleportation, only quantum
information, not matter, is transported, as opposed to the Star Trek ver-
sion of "beaming" entire human beings from, say, a spaceship to a
planet. Teleportation of quantum data has been demonstrated previous-
ly with ions and a variety of other quantum systems. But the new work
is the first to teleport a complete quantum logic operation using ions, a
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leading candidate for the architecture of future quantum computers.
"We verified that our logic operation works on all input states of two
quantum bits with 85 to 87% probability--far from perfect, but it is a
start,” NIST physicist Dietrich Leibfried said. A full-scale quantum
computer, if one can be built, could solve certain problems that are cur-
rently intractable. NIST has contributed to global research efforts to
harness quantum behavior for practical technologies, including efforts
to build quantum computers.
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3AHSATHE 10.
IHOBTOPEHME.
KOHTPOJIBHBIE BOITPOCHI
1O COAEPKAHUIO KYPCA

Task 1. Answer the fillowing questions:

1. The main typological characteristics of English intonation
are

a) the character of the Head

b) the character of the Head and the Final Tone

c) the character of the Pre-Head, Head, Final Tone

d) lip rounding.

2. InEnglish __ can become the subject of the passive con-
struction.

a) only direct object

b) direct and indirect objects

c) direct, indirect and prepositional objects

d) the same types of objet as in Russian.

3. Linguistic Typology studies .

a) types of languages

b) types of cognate languages

c) types within languages

d) historic development of languages.

4. Comparative study of compounds in English and in Rus-
sian shows that .

a) their types are identical in these languages

b) compounds with a linking element (joining the stems) are typi-
cal of both the languages

c) the so-called ‘syntactical compounds’ are typical of Russian
and are not to be found in English

d) the so-called ‘syntactical compounds’ are typical of English
and are not to be found in Russian.
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5. Alinguistic universalis .

a) the main feature of the language

b) a feature found in many or in all languages

c¢) the main semantic law of the language

d) the main grammatical law of the language.

6. We speak of the so-called ‘mixed character of the English
vocabulary’ in Typology as .

a) there are a great many borrowed words in the English vocabu-
lary

b) borrowed words differ from native words phonetically

c) borrowed words differ from native words in their linguistic
characteristics

d) there are so many groups of borrowed words in English that
once it was a Romanic-Germanic language.

7. ___ istypical of Russian while in English we find ____.

a) Progressive assimilation only ... both progressive and regres-
sive assimilation

b) Regressive assimilation only ... both progressive and regressive
assimilation

c) Assimilation concerning the work of the vocal cords ... assimi-
lation affecting the place of the sound articulation.

d) Assimilation concerning the place of the sound articulation ...
assimilation affecting the work of the vocal cods.

8. The main method of typological research focuseson .

a) finding out the degree of structural likeness between kindred
languages

b) investigating identical phenomena in English and in Russian

c¢) finding out the degree of structural divergence of world lan-
guages

d) finding out the degree of structural likeness between any two
languages.
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9. Conversion is widely spread in English dueto .

a) its flectional character

b) the short-word layer that it contains

c) its (mainly) analytical character

d) its partly analytical and partly agglutinative character.

10. How are the grammatical categories of noun related in
English and in Russian ?

a) They are different as the category of gender is absent all to-
gether in English.

b) They are practically identical as the category of case is not al-
ways spoken about in English.

c) They are different as the category of case is absent all together
in English.

d) They are practically identical as the category of gender is not
always spoken about in English.

11. Typological mistakes .

a) are made by some students who are not good at English

b) are caused by misunderstanding

c) arise due to differences between the systems of the English and
Russian languages

d) arise due to different grammatical laws in the English and Rus-
sian languages.

12. Common aspect forms of English verbs correspond to
_____of Russian verbs while their continuous forms correspond to
... of Russian verbs.

a) perfective aspect forms ... both perfective and imperfective as-
pect forms

b) imperfective aspect forms ... only perfective aspect forms

c) perfective and imperfective aspect forms ... any aspect forms

d) perfective and imperfective aspect forms ... imperfective as-
pect forms.
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13. Close character of consonant-consonant transition ex-
plains .

a) absence of aspiration and palatalization in Russian

b) absence of palatalization and aspiration in English

c) presence of aspiration and absence of palatalization in English

d) presence of palatalization and absence of aspiration in Russian.

14. The term ‘analytical’ presupposes .

a) the unity of lexical and grammatical meanings in one form

b) the separation of lexical and grammatical meanings — their real-
ization in different forms

c) different lexical and grammatical combinability of language
units

d) identical lexical and grammatical combinability of language
units.

15. As in the process of substantivation dependable flexions of
Russian adjectives and participles become independent flections of
nouns conversion in Russian can be referredtoas .

a) zero derivation

b) intermediate between zero derivation and affixation

c) intermediate between suffixation and prefixation

d) atype of derivation.

16. Inventory and distributional changes are found .

a) only with consonants

b) both with consonants and vowels

c) only with vowels

d) both with sonorants and vowels.

17. Distribution of phonemes is important .

a) only for typology

b) for typology and those linguistic disciplines typology obtains
data from

c¢) only for didactics

d) for typology and didactics.
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18. The formation of relative tenses in English and in Russian
is__

a) identical

b) different as the verb in English always stands in Past Simple

c) different as in English Sequence of Tenses rules are observed

d) different as English is an analytic language and Russian is a
synthetic one.

19. The existence of such forms as “formula — formulae’ and
‘formula — formulas’ shows that English noun

a) is in the process of assimilation yet

b) can serve an example of the analytic character of the language

c) can serve an example of the synthetic character of the language

d) is the only part of speech in the language having variation of
form.

20. The law of synonymic attraction involves .

a) verbs pertaining to socially important spheres

b) words pertaining to socially important spheres

c) words belonging to one part of speech which are close in meaning

d) analogues from different languages.
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TEKCTbI AJIA ITPOBEJIEHUSA
CPABHUTEJIBHO-TUIIOJIOI'MYECKOI'O AHAJIM3A

Telecommunication

1. Telecommunication is the transmission of signals over a dis-
tance for the purpose of communication. In modern times, this process
almost always involves the sending of electromagnetic waves by elec-
tronic transmitters but in earlier years it may have involved the use of
smoke signals, drums, or semaphore. Today, telecommunication is
widespread and devices that assist the process, such as the television,
radio, and telephone, are common in many parts of the world. There is
also a vast array of networks that connect these devices, including
computer networks, public telephone networks, radio networks, and
television networks. Computer communication across the Internet, such
as e-mail and instant messaging, is just one of many examples of tele-
communication.

2. Telecommunication systems are generally designed by tele-
communication engineers. Major contributors to the field of telecom-
munications include Alexander Bell who invented the telephone, John
Logie Baird who invented the mechanical television and Guglielmo
Marconi who first demonstrated transatlantic radio communication. In
recent times, optical fibre has radically improved the bandwidth availa-
ble for intercontinental communication, helping to facilitate a faster and
richer Internet experience. And, digital television has eliminated effects
such as snowy pictures and ghosting.

3. The basic elements of a telecommunication system are:

e a transmitter that takes information and converts it to a
signal for transmission

e atransmission medium over which the signal is transmitted

e a receiver that receives and converts the signal back into
usable information
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For example, consider a radio broadcast. In this case the broadcast
tower is the transmitter, the radio is the receiver and the transmission
medium is free space. Often telecommunication systems are two-way
and devices act as both a transmitter and receiver or transceiver. For
example, a mobile phone is a transceiver. Telecommunication over a
phone line is called point-to-point communication because it is between
one transmitter and one receiver, telecommunication through radio
broadcasts is called broadcast communication because it is between one
powerful transmitter and numerous receivers.

4. Signals can either be analogue or digital. In an analogue signal,
the signal is varied continuously with respect to the information. In a
digital signal, the information is encoded as a set of discrete values (e.g.
I's and 0's) Telecommunications devices convert different types of in-
formation, such as sound and video, into electrical or optical signals.
Electrical signals typically travel along a medium such as copper wire
or are carried over the air as radio waves. Optical signals typically trav-
el along a medium such as strands of glass fibers. When a signal reach-
es its destination, the device on the receiving end converts the signal
back into an understandable message, such as sound over a telephone,
moving images on a television, or words and pictures on a computer
screen.

5. A collection of transmitters, receivers or transceivers that com-
municate with each other is known as a network. Digital networks may
consist of one or more routers that route data to the correct user. An
analogue network may consist of one or more switches that establish a
connection between two or more users. For both types of networks a
repeater may be necessary to amplify or recreate the signal when it is
being transmitted over long distances. This is to combat attenuation that
can render the signal indistinguishable from noise.

6. The shaping of a signal to convey information is known as
modulation. Modulation is a key concept in telecommunications and is
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frequently used to impose the information of one signal on another.
Modulation is used to represent a digital message as an analogue wave-
form. This is known as keying and several keying techniques exist —
these include phase-shift keying, amplitude-shift keying and minimum-
shift keying. Bluetooth, for example, uses phase-shift keying for ex-
changes between devices.

Modulation is also used to boost the frequency of analogue signals.
This is because a raw signal is often not suitable for transmission over
long distances of free space due to its low frequencies. Hence its infor-
mation must be superimposed on a higher frequency signal (known as a
carrier wave) before transmission. There are several different modula-
tion schemes available to achieve this — some of the most basic being
amplitude modulation and frequency modulation. An example of this
process is a DJ's voice being superimposed on a 96 MHz carrier wave
using frequency modulation (the voice would then be received on a ra-
dio as the channel "96 FM").

Communication

The word “communication” is used very often in a very broad
sense to include the procedures by means of which one mind or mecha-
nism may affect another. This involves not only written and oral
speech, but also music, the pictorial arts, the theatre and in fact all hu-
man behaviour.

Relative to the broad subject of communication, there seems to be
three problems. Thus it seems reasonable to ask: How accurately can
the symbol of communication be transmitted? (The technical problem.)
How precisely do the transmitted symbols convey the desired meaning?
(The semantic problem.) How effectively does the received meaning
affect conduct in the desired way? (The effectiveness problem.)

The technical problems are concerned with the accuracy of trans-
ference from the sender to the receiver of sets of symbols (written
speech), or of continuously varying signals (telephonic or radio trans-
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mission of voice or music), or of continuously varying two dimensional
patterns (television), etc.

The selected message may consist of written or spoken words, or
of pictures, music, etc. The transmitter changes this message into the
signal which is sent over the communication channel from the transmit-
ter to the receiver.

In the case of telephony, the channel is a wire, the signal is a vary-
ing electrical current on this wire; the transmitter is the set of devices
which change the sound pressure of the voice into varying electrical
current.

In telegraphy, the transmitter codes written words into sequences
of interrupted current of varying lengths (dots, dashes, spaces). In oral
speech, the information is the brain, the transmitter is the voice mecha-
nism producing the varying sound pressure (the signal) which is trans-
mitted through the air (the channel).

In the case of radio, the channel is simply space and the signal is
the electromagnetic wave which is transmitted.

The receiver is a sort of the inverse transmitter, changing the
transmitter signal back into a message, and handing this message on to
the destination. In the process of the transmission it is unfortunately
characteristic that certain things are added to the signal which were not
intended by the information source. These unwanted additions may be
distortions of sound (in telephony, for example) or static (in radio), or
distortions in shape or shading of picture (television), or errors in
transmission (telegraphy or facsimile). All of these changes in the
transmitted signal are called noise.

The word “information” in the mathematical theory of communica-
tion is used in a special sense that must not be confused with its ordinary
usage. In particular, information must not be confused with meaning.

The word “information” in communication theory relates not so
much to what you do say, as to what you could say. That is, information
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is a measure of one’s freedom of choice when one selects a message. If
one is confronted with a very elementary situation where he has to
choose one of two alternative messages, then the information associated
with this situation is unity. Note that it is misleading to say that one or
the other message conveys unit information. The concept of infor-
mation applies not to the individual message (as the concept of meaning
would), but rather to the situation as a whole, the unit information indi-
cates that in this situation one has as amount of freedom of choice, in
selecting a message, which it is convenient to regard as a standard unit
amount.

Nanotechnology

The 21st century has ushered in an era of nanotechnology the new
mysterious and fascinating world with amazing prospects, promising to
change our life drastically.

Try to predict nanotechnology impact on our future and discuss
with your partner benefits it is most likely to offer to mankind. Do you
think nanotechnology will have a positive or negative effect on life?
Supply your point of view with arguments for or against nanotechnolo-
gy development.

Read the article to check your predictions and ideas. Highlight the
nanotechnology benefits and most promising applications. Entitle the
article and summarize the essential information.

Nanotechnology promises to produce big benefits from thinking
small.

Nanotechnology involves the manipulation of particles smaller
than the wavelength of light, yet this challenging field offers major
benefits for a diverse range of applications. Jon Severn reports on the
state of the art and what might be forthcoming in the future.

Nanotechnology is unfortunately one of those words that has been
adopted by non-technical people to describe objects and phenomena
that are particularly small. Nevertheless, the strict definition of nano-
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technology refers to measurements in the nanometer range - in other
words, billionths of meters. To give some idea of the scale, one na-
nometer is about 1/100000 of the diameter of a human hair, 1/500 of
the wavelength of visible light, ten times the diameter of a hydrogen
atom or approximately the same size as a water molecule.

Although nanotechnology and the ability to manipulate individu-
al molecules was predicted decades ago, it is only more recently that
the technologies to achieve this have become available - as have the
electron microscopes and scanning tunneling microscopes required to
visualise the processes. At the nano scale, traditional assumptions
about material properties have to be left to one side as some astonish-
ing results can be obtained. At this scale, quantum physics starts to
take effect so that, for example, magnetic properties can be manipu-
lated at will.

Many of the initial applications for nanotechnology have been
concerned with modifying surface properties. For instance, a surface
that is 'optically flat' is seen to have a myriad of surface imperfections
when viewed at the atomic scale. Using nanoscale particles, these im-
perfections can be filled so as to modify the frictional properties. Such a
change can result in easy-clean surfaces for kitchens and bathrooms, or
a nti-graffiti coatings for buildings or vehicle bodies. Modified surface
coatings have already been put to good use to provide a competitive
advantage in world-class sport; in the 2002 winter Olympics, a nano-
technology ski wax was used.

Elsewhere, BASF has recently announced Lotus Spray, so named
because of the way in which it mimics the low-friction surface of the
leaves on the lotus plant. Each leaf has a coating of wax particles ap-
proximately 1 nanometer across and with a structure that makes the leaf
highly water-repellent and self-cleaning. If a water droplet falls on the
leaf, the surface tension forms a small droplet that will roll off the leaf,
keeping it dry. Furthermore, because the water droplets roll, rather than
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slide, they tend to collect any dirt particles on the leaf, thereby provid-
ing a cleaning action. BASF's Lotus Spray combines nanoparticles with
water-repelling polymers such as polypropylene, polyethylene and
waxes - as well as a propellant gas. As the spray dries on the surface, a
nanostructure forms through a process of self-assembly. It is expected
that the spray will be used on relatively rough surfaces such as paper,
leather, textiles, masonry and wood. Other applications that use surface
modification include thermal protection for glass and scratch-resistant
coatings for plastics that could allow, for example, polycarbonate to be
used for lightweight automotive glazing and body panels. In the aero-
space sector, nano-coatings could be used to provide anti-fogging and
anti-icing surfaces that eliminate the need for expensive integrated
heaters and deicer systems that can have an adverse effect on wing aer-
odynamics. For both the aerospace and automotive sectors, ultra-thin
electrochromium coatings could be used to create sun shields that can
be switched on and off electrically.

Surface-modifying nanotechnologies also have the potential to
revolutionise the comparatively mundane world of pneumatics. Cur-
rently the dominant material for virtually all pneumatic actuators and
valves is aluminium alloy with nitrile rubber or other elastomers for
seals. If the components were to be treated with a low-friction coating,
a significant performance improvement could be achieved. Alternative-
ly, if abrasion-resistant, low-friction coatings were employed, alumini-
um could be replaced by plastics, thereby giving a major weight saving
and a step change in performance.

Beneath the surface

Nanotechnology is not restricted to the surface of components,
there are also applications within the structure of many products. Ba-
bolat's VS NCT tennis rackets use carbon nanotubes to stiffen the stabi-
lisers and give a 50 per cent increase in torsional stiffness as well as
reduced flex and twist in the handle.
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Nanotubes, nanopowders and surface coatings are certainly areas
with significant growth potential for nanotechnology, but there is also
scope for developing mechanisms and assemblies on a nano scale. In an
exercise carried out more for personal satisfaction than for scientific
advancement, researchers at Cornell University, USA, produced a gui-
tar no bigger than a blood cell. The guitar, 10 micrometers long, has six
strummable strings, each of which is around 50nanometres wide.
Meanwhile, several organisations — including NASA in the USA and
various universities around the world — have been carrying out formal
research into gears that are built on an atomic scale, and there is a vast
amount of work continuing in the field of MEMS (microeiectromechan-
ical systems). It is believed by many that MEMS will be widely applied
in the field of consumer electronics, such as for accelerometers and gy-
ros for use in tilting and scrolling controls for PDAs (personal digital
assistants), handheld games and joysticks.

Another area where MEMS are already being used is in the con-
struction of video projectors. For example, the Mitsubishi VS-
50FD10U utilizes the DMD (digital mirror device) system from DLP,
resulting in high resolution, excellent clarity, low maintenance re-
guirements and a long service life with high reliability. The digital mir-
ror device uses minute 14-micron metal squares arranged on a silicon
base. Electronically switching the mirrors has the effect of directing
them so that light from the source is reflected through the projection
lens to the screen, in the unswitched state the mirrors reflect light and
direct it at a light absorber, so a blank pixel appears on the screen.
Switching takes only 10 microseconds and the high-speed response is
fast enough for use with moving images and, consequently, true multi-
media displays.

MEMS are also used at the heart of automotive tyre pressure moni-
tors that are now coming on the market, and other automotive applica-
tions include trigger mechanisms for airbags, and vehicle rollover de-
tection sensors.
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A big future

Clearly there is already a multitude of applications for nanotech-
nology, but what does the future hold? Many commentators believe that
the medical world stands to benefit enormously from nano-scale robots
that could be introduced into the bloodstream. For instance, robotic red
blood cells could be used to store oxygen and carbon dioxide, then
pump it out at the appropriate destination. Another possible application
could be miniature devices that seek out cancer cells or tumours, get
inside and then destroy the problematic cells from within. It could also
be possible to develop devices that clean and repair the circulatory sys-
tem itself.

This may all sound like science fiction, and the author Michael
Crichton has recently completed a novel that draws heavily on nano-
technology. Prey describes how a laboratory is developing molecular-
sized robots that are designed to flock together inside small blood ves-
sels and act as a camera to detect clogged vessels. However, the story-
line reveals that there is something far more sinister being planned.

Returning to reality, the range of potential applications for nano-
technologies is almost unlimited. Already teams are investigating the
feasibility of power sources that use nanocubes to store and release hy-
drogen for fuel cells. The superior specific surface area and high po-
rosity of these nanocubes allow relatively large amounts of hydrogen to
be stored. Such miniature fuel cells could soon replace conventional
batteries in equipment such as mobile telephones and laptop computers.
Staying with computing, it is widely thought that data storage densities
could be improved by a factor of 1000.
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